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CHEMISTRY

BOOKS - UNIVERSAL BOOK DEPOT 1960 CHEMISTRY
(HINGLISH)

SOME BASIC CONCEPTS OF CHEMISTRY

Ordinary Thinking (Objective Questions) Matter and Units for

measurement

(29.2 — 20.2)(1.79 x 10°)
1.37

1. In the final answer of the expression .The

number of significant figures is

Al

B.2

C.3



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GP5mJzPIm43G

D.4

Answer: B

o Watch Video Solution

2. Dimensions of pressure are same as that of

A.Energy

B. Force

C. energy per unit volume

D. Force per unit volume

Answer: C

o Watch Video Solution

3.The significant figures in 3400 are


https://dl.doubtnut.com/l/_GP5mJzPIm43G
https://dl.doubtnut.com/l/_lTFMpSTQ7uHF
https://dl.doubtnut.com/l/_NCrHZOPvV9e3

A2

B.5

C.6

D.4

Answer: D

o Watch Video Solution

4. A mixture of ZnCly and PbCl, can be sepqgrated by

A. Distillation
B. Crystallization
C. Sublimation

D. Adding aceitic acid

Answer: D



https://dl.doubtnut.com/l/_NCrHZOPvV9e3
https://dl.doubtnut.com/l/_FiSoINdO9Qaf

[ W Watch Video Solution

5.0ne fermi is

A 10 8 cm

B.10 ® cm

C.107%cm

D.10 2 cm

Answer: A

o Watch Video Solution

6. The number of significant figure in 60.001 are

A5

B.6


https://dl.doubtnut.com/l/_FiSoINdO9Qaf
https://dl.doubtnut.com/l/_jqmgvB0YAPhp
https://dl.doubtnut.com/l/_oJeRb2mOEao8

C.3

D.2

Answer: B

o Watch Video Solution

7. Given P = 0.0030m, @ = 2.40m, R = 3000m, Significant figures in

P, Q and R are respectively

A22]

B.234

C.4,2)

D.4,23

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oJeRb2mOEao8
https://dl.doubtnut.com/l/_aEeWDAt2zRCa

8.The prefix 10" is

A. Giga
B. Nano
C. Mega

D. Exa

Answer: D

° Watch Video Solution

9. A mixture of sand and iodine can be separated by

A. Crystallisation

B. Sublimation

C. Distillation

D. Fractional distillation


https://dl.doubtnut.com/l/_W7vyzOsZs7uO
https://dl.doubtnut.com/l/_yeBwxkTMHBOl

Answer: B

o Watch Video Solution

10. One part of element A reacts with two parts of another element B. 6

parts of element C reacts with 4 parts of element B. If Aand C combine

together, the ratio of their weights be governed by

A. Law of definite proportion

B. Law of multiple proportion

C. Law of reciprocal proportion

D. Law of conservation of mass

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yeBwxkTMHBOl
https://dl.doubtnut.com/l/_8Umv8Y0CBSpN

11. The prefix zepto stands for

A 10°

B.10 12

c.10° 1

D.10~ 2

Answer: D

° Watch Video Solution

12. Which of the following halogen can be purified by sublimation

A F,

B.Cly

C. B7’2

D. I


https://dl.doubtnut.com/l/_gUTvl9R1zX1E
https://dl.doubtnut.com/l/_YnsmphIrN70d

Answer: D

o View Text Solution

13. One atmosphere is equal to

A. 101325 K pa
B.1013.25 K pa
C.10° Nm

D. None of these

Answer: A

° Watch Video Solution

14. A sample was weighted using two different balances. The result's

were (i) 3.929 g (ii) 4.0 g. how would the weight of the sample be



https://dl.doubtnut.com/l/_YnsmphIrN70d
https://dl.doubtnut.com/l/_W2YjewvTa11H
https://dl.doubtnut.com/l/_7Lcb91hILYRg

reported. If it has to be reported in 3 significant no

A.3929g

B.3g

C.39g

D.393 g

Answer: D

° View Text Solution

15. Which one of the following is not an element

A. Diamond

B. Graphite

C.Silica

D. Ozone


https://dl.doubtnut.com/l/_7Lcb91hILYRg
https://dl.doubtnut.com/l/_TR5dMbIEHZOJ

Answer: C

° View Text Solution

16. 81.4g sample of enthyl ethyl alcohol contains 0.002g of water. The

amount of pure ethyl alcohol to the proper number of significant

figures is

A.814

B.7140 g

C.94¢g

D.81g

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TR5dMbIEHZOJ
https://dl.doubtnut.com/l/_MtGCgrAedKxp

17.The unit JPa ! is equivalent to

C.dm?

D. None of these

Answer: A

° Watch Video Solution

18. From the following masses, the one which is expressed nearest to

the milligram is

Al6g

B.164 g

C.16428 g


https://dl.doubtnut.com/l/_Z0S3TN3UHAfL
https://dl.doubtnut.com/l/_UTLe2UCT2yzB

D.164284 g

Answer: C

o Watch Video Solution

19. Assertion: Atoms can neither be created nor destroyed.
Reason: Under similar condition of temperature and pressure, equal
volume of gases does not contain equal number of atoms.
A.If both assertion and reason are true and the reason is the
correct explanation of the assertion.
B.If both assertion and reason are true but reason is not the
correct explanation of the assertion.
C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: C


https://dl.doubtnut.com/l/_UTLe2UCT2yzB
https://dl.doubtnut.com/l/_gp9K98AvWEWt

° Watch Video Solution

20. Assertion : 1.231 has three significant figures.

Reason : All numbers right to the decimal point are significant.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_gp9K98AvWEWt
https://dl.doubtnut.com/l/_WMzzQVqMgNVK

21. Assertion : Pure water obtained from different sources such as river,
well, spring, sea etc. always contains hydrogen and oxygen combined in
the ratio 1: 8 by mass.
Reason : A chemical compound always contains elements combined
together in same proportion by mass, it was discovered by French
chemist, Joseph Proust (1799).
A.If both assertion and reason are true and the reason is the
correct explanation of the assertion.
B.If both assertion and reason are true but reason is not the
correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_JXeylXxlJhVh
https://dl.doubtnut.com/l/_THOK8JTs6Y6w

22. Assertion : A certain element X, forms binary compounds with
chlorine containing 59.68%, 68.95 % and 74.75% chlorine respctively.
These data illustrate the law of multiple proportions.
Reason : According to law of multiple proportions, the relative amount
of an element combining with some fixed amount of a second element
in a series of compounds are the ratios of small whole numbers.
A.If both assertion and reason are true and the reason is the
correct explanation of the assertion.
B.If both assertion and reason are true but reason is not the
correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_THOK8JTs6Y6w
https://dl.doubtnut.com/l/_DvJWO702L9dN

23. Assertion : Gases combine in simple ratio of their volume but, not

always.

Reason : Gases deviate from ideal behaviour.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

o View Text Solution

24. Assertion: Isomorphous substances from crystals of same shape

and can grow in saturated solution of each other.


https://dl.doubtnut.com/l/_DvJWO702L9dN
https://dl.doubtnut.com/l/_vwXRTo1iRVvA

Reason: They have similar constitution and chemical formulae.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

o Watch Video Solution

Ordinary Thinking (Objective Questions) Atomic, Molecular and

Equivalent masses

1. The number of moles of oxygen in 1L of air containing 21% oxygen by

volume, in standard conditions, is


https://dl.doubtnut.com/l/_vwXRTo1iRVvA
https://dl.doubtnut.com/l/_aIW6jrF6iz7U

A. 0186 mol

B. 0.21 mol

C. 210 mol

D. 0.0093 mol

Answer: D

o Watch Video Solution

2. The number of atoms in 4.25 g of N Hj is approximately

A1 x 10%

B.2 x 10%

C.4 x 10%

D.6 x 10%

Answer: D



https://dl.doubtnut.com/l/_aIW6jrF6iz7U
https://dl.doubtnut.com/l/_yl5NTtnMnFdX

[ W Watch Video Solution ]

3. Assuming fully decomposed, the volume of CO, released at STP on

heating 9.85 g of BaC'O3 (Atomic mass of Ba=137) will be

A.084 L

B.2.24 L

C.4.06L

D.112L

Answer: D

° Watch Video Solution

4. An element X has the following isotopic composition:
20 X:90% . X:8.0% 2% X:2.0%
The weight average atomic mass of the naturally occurring element X

is closest to


https://dl.doubtnut.com/l/_yl5NTtnMnFdX
https://dl.doubtnut.com/l/_mueKE7zu4BD1
https://dl.doubtnut.com/l/_SZnTsLOpMTNW

A. 200 amu

B. 201 amu

C.202 amu

D. 199 amu

Answer: C

o Watch Video Solution

5. The weight of a molecule of the compoundCgyH1s is

A.14 x 10" %y
B.1.09 x 10~ %g
C.5.025 x 10%¢

D.16.023 x 10%3g

Answer: A



https://dl.doubtnut.com/l/_SZnTsLOpMTNW
https://dl.doubtnut.com/l/_JyyVgtrrB23E

[ W Watch Video Solution ]

6. The number of molecules in 8.96L of a gas at 0° C' and 1 atmosphere

pressure is approximately

A. 6.02 x 10?3

B.12.04 x 10?

C.18.06 x 10%®

D. 24.08 x 10%2

Answer: D

° Watch Video Solution

7. What is the concentration of nitrate ions if equal volumes of

0.1MAgNQO;3 and 0.1M NaCl are mixed together?

A.01M


https://dl.doubtnut.com/l/_JyyVgtrrB23E
https://dl.doubtnut.com/l/_VTMl8PuxdWLR
https://dl.doubtnut.com/l/_aDaylMrAVk2t

B.0.2 M

C.0.05M

D.0.25 M

Answer: C

° Watch Video Solution

8.74.5g of a metallic chloride contain 35.5g of chlorine. The equivalent
weight of the metal is

A.19.5

B.355

C.39.0

D.78.0

Answer: C

| o A _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_aDaylMrAVk2t
https://dl.doubtnut.com/l/_odMmHbtzrCS6
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9. When potassium permanganate is titrated against ferrous

ammonoum sulphate, the equivalent weight of potassium

permanganent is

A. Molecular weight /10

B. Molecular weight /5

C. Molecular weight /2

D. Molecular weight

Answer: B

° Watch Video Solution

10. 0.75 g platinic chloride, a monoacid base on ignition gave 0.245 g

playinum. The molecular weight of the base is


https://dl.doubtnut.com/l/_odMmHbtzrCS6
https://dl.doubtnut.com/l/_LZai2LUwM5nd
https://dl.doubtnut.com/l/_GJ2jVE9cSDTi

A.75.0

B.93.5

C. 100

D. 80.0

Answer: B

° Watch Video Solution

1.1n acidic medium, equivalent weight of K;Cr,0O; (molecular weight
= M)is

A M/3

B.M /4

CM/6

D. M /2


https://dl.doubtnut.com/l/_GJ2jVE9cSDTi
https://dl.doubtnut.com/l/_przJtdlniyzU

Answer: C

o Watch Video Solution

12. The numbe of moles of oxygen obtained by the electrolytic

decomposition of 108 g water is

A.25

B.3

C.5

D.75

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_przJtdlniyzU
https://dl.doubtnut.com/l/_K7sT1GNke8ZS

13. The number of equivalents of NyS;03 required for the volumetric

estimation of one equivalent of Cu®™ is

Al
B.2
C.3/2

D.3

Answer: B

° Watch Video Solution

14. The percentage of element M is 53 in its oxide of molecular formula

M50s. Its atomic mass is about

A. 45

B.9


https://dl.doubtnut.com/l/_84HBwse4aaxY
https://dl.doubtnut.com/l/_rcF2iYOFpzCP

C.18

D. 27

Answer: D

o Watch Video Solution

15. A metal M of equivalent mass E forms an oxide of molecular formula

M, 0O,. The atomic mass of the metal is given by the correct equation.

A.2E(y/x)
B.zyE
CE/y

D.y/E

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rcF2iYOFpzCP
https://dl.doubtnut.com/l/_SHYNDJvWe3Qd

16. Arrange the following in the order of increasing mass (at. Mass of
0=16, Cu=63, N=14)
(I) one atom of oxygen (ll) one atom of nitrogen
(my 1 x 10 1% mole of oxygen (IV) 1 x 10 1% mole of copper
All <I<III <1V
B.I<II<III <IV

CIII <II<IV <I

D.IV <II <IIT <1

Answer: A

° Watch Video Solution

17. What is the volutme of C'O, liberted in litres at 1 atmosphere and
0° C when 10% of 100 pure calcium carbonate is treated with excess

dilute sulphuric acid? (at mass of Ca=40, C=12, 0=16)


https://dl.doubtnut.com/l/_h9idoAPBvLUM
https://dl.doubtnut.com/l/_omqNY9sEkTwn

A.0.224

B.2.24

C.224

D. 224

Answer: B

° Watch Video Solution

18. When 100 ml 1N-NaOH solution and 10 ml of 10 N sulphuric acid

solution are mixed together, the resulting solution will be

A. Alkaline

B. Acidic

C. Atrongly acidic

D. Neutral


https://dl.doubtnut.com/l/_omqNY9sEkTwn
https://dl.doubtnut.com/l/_oqIZFwoiKoTh

Answer: D

o Watch Video Solution

19. 1.520g of the hydroxide of a metal on ignition gave 0.995¢g of oxide.

The equivalent weight of metal is

A.1.520

B.0.995

C.19.00

D.9.00

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oqIZFwoiKoTh
https://dl.doubtnut.com/l/_EECp7VNPk6jJ

20. The equivalent weight of a metal is 9 and vapour density of its
chloride is 59.25. The atomic weight of metal is :

A.239

B.273

C.363

D. 483

Answer: A

o Watch Video Solution

21. On reduction with hydrogen, 3.6g of an oxide of matel left 3.2g of
metal. If the vapour density of metal is 32, the simplest formula of the

oxide would be

A.MO


https://dl.doubtnut.com/l/_o8pTHUrxmFmr
https://dl.doubtnut.com/l/_GguY2KSL7M2Z

B. M203

C. M,0

D. M205

Answer: C

° Watch Video Solution

22. Sulphur forms the chlorides S5Cly and SCl,. The equivalent mass
of sulphurin SCl; is

A. 8 g/mol

B. 16 g/mol

C. 64.8 g/mol

D. 32 g/mol

Answer: B

| ° Ao _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_GguY2KSL7M2Z
https://dl.doubtnut.com/l/_jTwbz7DEqlLQ
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23. 1.5g CdCl, was formed to contain 0.9g Cd. Calculate the atmic

weight of Cd.

A. 118

B.112

C.106.5

D.53.25

Answer: B

o Watch Video Solution

24.0ne litre of a gas at STP weight 1.16 g it can possible be

A CQHQ

B.CO


https://dl.doubtnut.com/l/_jTwbz7DEqlLQ
https://dl.doubtnut.com/l/_ff1pHAFc3Xwg
https://dl.doubtnut.com/l/_XsOLFhECdWSa

C. O,

D.CH,

Answer: A

o Watch Video Solution

25.0.32 g of metal gave on treatment with an acid 112 mL of hydrogen

at NTP. Calculate the equivalent weight of the metal

A.58

B.32

C. N2

D. 24

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XsOLFhECdWSa
https://dl.doubtnut.com/l/_gZn4UBAqYMrv

26. Equivalent weight of crystalline oxalic acid is

A.30

B.63

C.53

D. 45

Answer: B

° Watch Video Solution

27.The modern atomic weight scale is based on

A C*?

B. 06

c. H!


https://dl.doubtnut.com/l/_OFdKXW5az7nQ
https://dl.doubtnut.com/l/_I7KEex6KUGk5

Answer: A

o Watch Video Solution

28.In the reaction of sodium thiosulphate with I, in aqueous medium,

the equivalent mass of sodium sulphate

A. Molar mass of sodium thisosulphate

B. The average of molar masses of NayS,03 and I,

C. Half the molar mass of sodium thiosulphate

D. Molar mass of sodium thiosulphate x 2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_I7KEex6KUGk5
https://dl.doubtnut.com/l/_3Wq14mGEq7wV

29. To dissolve 0.9 g metal, 100 mL of 1 N HCl is used. What is the

equivalent weight of metal?

A7

B.9

D.6

Answer: B

o Watch Video Solution

30. M is molecular weight of KMnQO,. The equivalent weight of

KMnQO, when it is converted into Ko MnQy is

A. Molecular weight /10

B. M/3


https://dl.doubtnut.com/l/_OvDKxtnJBWyz
https://dl.doubtnut.com/l/_QXhyv4KzYIgU

C.M/5

D. M/7

Answer: A

o Watch Video Solution

31. For preparing 0.1 N solution of a compound from its impure sample,

of which the percentage purity is known, the weight of the substance

required will be

A. More than the theroretical weight

B. Less than the theoretical weight

C. Same as the throretical weight

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QXhyv4KzYIgU
https://dl.doubtnut.com/l/_NdAio2Dh7Mb5

32.If the molecular weight of H3 POj is M, its equivalent weight will be

A M

B. M/2

C.M/3

D.2M

Answer: B

° View Text Solution

33. Which one of the following properties of an element is not variable

?

A. Valency

B. Atomic weight


https://dl.doubtnut.com/l/_NdAio2Dh7Mb5
https://dl.doubtnut.com/l/_EWh1PeaQ8VCW
https://dl.doubtnut.com/l/_YDI071rJpIKt

C. Equivalent weight

D. All of these

Answer: B

o Watch Video Solution

34. In chemical scale, the relative mass of the isotopic mixture of
oxygen atoms (016, o', 018) is assumed to be equal to

A.16.002

B. 16.00

C.17.00

D. 11.00

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YDI071rJpIKt
https://dl.doubtnut.com/l/_Vb3LcNYwlcMg

35. The mass of a molecule of water is

A3 x 10 % kg
B.3 x 10 ¥ kg
C.1.5 x 10" kg

D.2.5 x 10~ % kg

Answer: A

° Watch Video Solution

36. The value of amu is equal to

A.1.57 x 10~ kg
B.1.66 x 10 2 kg
C.1.99 x 10" # kg

D.1.66 x 10~ %" kg


https://dl.doubtnut.com/l/_KMET9TTvt3Hy
https://dl.doubtnut.com/l/_dP7kWIwicSjh

Answer: D

o View Text Solution

37. If we consider that 1/6, in place of 1/12, mass of carbon atom is
taken to be the relative atomic mass unit, the mass of one mole of a
substance will.

A. Decrease twice

B. Increase two fold

C. Remain unchanged

D. Be a function of the molecular mass of the substance

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dP7kWIwicSjh
https://dl.doubtnut.com/l/_TVFuz1pHb71S

38. The number of hydrogen atoms present in 25.6g of sucrose
(C12H55011) which has a molar mass of 342.3g is :

A. 22 x 10%

B.9.91 x 10%

C.11 x 10%

D. 44210% H atoms

Answer: B

o Watch Video Solution

39. 100 mL of PH3 on decomposition produced phosphorus and

hydrogen. The change in volume is

A. 50 mL increase

B. 500 mL decrease


https://dl.doubtnut.com/l/_nXYkob9L6LFH
https://dl.doubtnut.com/l/_8gI9sldYPDLW

C.900 mL decrease

D. Nil

Answer: A

o Watch Video Solution

40. Which of the following has least mass

A. 2 g atom of nitrogen

B.3 x 10?3 atom of C

C.Tmole of S

D.7.0 g of Ag

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_8gI9sldYPDLW
https://dl.doubtnut.com/l/_PDz9BbbwaGKM
https://dl.doubtnut.com/l/_QrSzJp1CRbIx

41.The molecular weight of a gas is 45. Its density at STP is

A 224
B.11.2
C.57

D. 2.0

Answer: D

o Watch Video Solution

42. A bivalent metal has an equivalent mass of 32. The molecular mass

of the metal nitrate is

A. 168
B.192
C.188

D. 182


https://dl.doubtnut.com/l/_QrSzJp1CRbIx
https://dl.doubtnut.com/l/_pciibhOy2uid

Answer: C

° Watch Video Solution

43.1 amu is equal to

1
Aﬁof0—12
B = fO — 16
11 ©
C.1gof Hy

D.1.66 x 10~ 2 kg

Answer: D

° Watch Video Solution

44.1.25g of a solid dibasic acid is completely neutralised by 25mL of

0.25 molar Ba(OH,) solution. Molecular mass of the acid is:


https://dl.doubtnut.com/l/_pciibhOy2uid
https://dl.doubtnut.com/l/_YIhtWNr6T7YD
https://dl.doubtnut.com/l/_HEzWkPqYInrh

A.100

B. 150

C.120

D. 200

Answer: D

° Watch Video Solution

45.124 g Pis presentin 2.2 g

A. P,S,

C.PS,

Answer: A



https://dl.doubtnut.com/l/_HEzWkPqYInrh
https://dl.doubtnut.com/l/_e5dS53el9g70

[ W Watch Video Solution ]

46. The atomic weights of two alements A and B are 40 and 80
reapectively. If x g of A contains y atoms, how many atoms are present

in 2x g of B?

>

@
e e

D. 2y

Answer: C

° Watch Video Solution

47.1f N4 is Avogadro's number then number of valence electrons in 4.2

g of nitride ions (N3_)


https://dl.doubtnut.com/l/_e5dS53el9g70
https://dl.doubtnut.com/l/_Ucnrp5ohUUff
https://dl.doubtnut.com/l/_uWhvxZN8w1dp

A.24 Ny

B.4.2N,

C.1.6N,

D.3.2N,

Answer: A

o Watch Video Solution

48.The number of molecule at NTP in 1 ml of an ideal gas will be

A 6 x 10%

B.2.69 x 10

C.2.69 x 10%

D. None of these

Answer: B



https://dl.doubtnut.com/l/_uWhvxZN8w1dp
https://dl.doubtnut.com/l/_CxI5tfY5xKDh

| @ View Text Solution |

49. The specific heat of a metal os 0.16 its approximate atomic weight

would be

A.32

B.16

C.40

D. 64

Answer: C

o Watch Video Solution

50. What volume of NHj gas at STP would be needed to prepare 100

ml of 2.5 molal (2.5 m) ammonium hydroxide solution?

A. 0.056 litres


https://dl.doubtnut.com/l/_CxI5tfY5xKDh
https://dl.doubtnut.com/l/_TvIWJzDePWSH
https://dl.doubtnut.com/l/_TRid6CsJKVf9

B. 0.56 litres

C. 5.6 litres

D. 11.2 litres

Answer: C

° Watch Video Solution

51. Caffeine has a molecular weight of 194. If it contains 28.9 % by mass
of nitrogen, number of atoms of nitrogen in one molecule of caffeine is
A 4
B.6
C.2

D.3

Answer: A

| o Ao _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_TRid6CsJKVf9
https://dl.doubtnut.com/l/_TuB1JhAXD2Mx
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52. A 400 mg iron capsule contains 100 mg of ferrous fumarate,
(CHCOO),Fe. The percentage of iron present in it is approximately
A.0.33
B.0.25
C.0.14

D.0.08

Answer: D

o Watch Video Solution

53. A gaseous mixture contain CH, and C3Hg in equimolecular

proportion. The weight of 2.24 litres of this mixture at NTP is

A46g


https://dl.doubtnut.com/l/_TuB1JhAXD2Mx
https://dl.doubtnut.com/l/_G1YNci1Pxx7t
https://dl.doubtnut.com/l/_nOhRLNfoRyjv

B.16g

C.23g

D.23g

Answer: C

o Watch Video Solution

54. One gram of hydrogen is found to combine with 80 g of bromine

one gram of calcium (valency = 2) combines with 4 g of bromine the

equivalent weight of calcium is

A.10
B. 20
C.40

D. 80

Answer: B


https://dl.doubtnut.com/l/_nOhRLNfoRyjv
https://dl.doubtnut.com/l/_VZts5Hprdl90

° View Text Solution

55. Assertion: Molecular weight of oxygen is 16.

Reason: Atomic weight of oxygen is 16.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_VZts5Hprdl90
https://dl.doubtnut.com/l/_zFGHqpP1U8V7

Molecular weight

56. Assertion : Equivalent weight of a base = —
Acidity

Reason : Acidity is the number of replaceable hydrogen atoms in one

molecule of the base.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: C

o Watch Video Solution

57. Assertion : One atomic mass unit (amu) is mass of an atom equal to

exactly one-twelfth of the mass of a carbon-12 atom.


https://dl.doubtnut.com/l/_Li3zlSHcgIsc
https://dl.doubtnut.com/l/_rzp10ePUJhsO

Reason : Carbon-12 isotope was selected as standard.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

o Watch Video Solution

) . M . )
58. Assertion : Molecular mass of A is T if the molecular mass of B is

M.

Reason : Vapour density of A four times that of B.


https://dl.doubtnut.com/l/_rzp10ePUJhsO
https://dl.doubtnut.com/l/_dVE872mw0vwB

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: C

° Watch Video Solution

59. Assertion : Equivalent weight of Cu in CuO is 63.6 and in

Cuy031.8.

Reason : Equivalent weight of an element

Atomic weight of the element

Valency of the element


https://dl.doubtnut.com/l/_dVE872mw0vwB
https://dl.doubtnut.com/l/_pjJfpGUxZ4an

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

° Watch Video Solution

60. Assertion : 1amu equals to 1.66 x 10~ %! g.

1
Reason : 1.66 x 10~ 2g equals to ER) th of mass of a C''? atom.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.


https://dl.doubtnut.com/l/_pjJfpGUxZ4an
https://dl.doubtnut.com/l/_g75B3Vato2KR

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

° Watch Video Solution

61. Assertion :- Equivalent weight of NHj in the reaction N, — NHj is

17 /3 while that of N, is 28 /6.

Molecular weight

Reason :- Equivalent weight = -
number of e~ lost or gained/mole

A.If both assertion and reason are true and the reason is the
correct explanation of the assertion.
B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.


https://dl.doubtnut.com/l/_g75B3Vato2KR
https://dl.doubtnut.com/l/_qcO5dOBkfbod

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

o Watch Video Solution

Ordinary Thinking (Objective Questions) The mole concept

1. The number of oxygen atoms in 4.4 g of CO, is approximately

A 1.2 x 10%
B.6 x 10%2
C.6 x 10%

D.12 x 10%

Answer: A

| o Wiakt~rh \NiAdAaA CAliikian



https://dl.doubtnut.com/l/_qcO5dOBkfbod
https://dl.doubtnut.com/l/_R3Gpx0FwWvDO
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2. Molarity of liquid HCl with density equal to 1.17g /mL is:

A.36.5
B. 18.25
C.35.05

D. 4.65

Answer: C

° Watch Video Solution

3. How many moles of lead (Il) chloride will be formed from a reaction

between 6.5 g of PbO and 3.2 g of HCI?

A.0.0M

B. 0.029


https://dl.doubtnut.com/l/_R3Gpx0FwWvDO
https://dl.doubtnut.com/l/_ELtDfr1qYJ01
https://dl.doubtnut.com/l/_shKIYYZgvJVg

C.0.044

D.0.333

Answer: B

o Watch Video Solution

4. The numbr of atoms in 0.1 mole of a triatomic gas is

(NA — 6.02 x 1023m01—1)

A. 1.800 x 10%2
B. 6.026 x 10?2
C.1.806 x 10%

D. 3.600 x 10%

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_shKIYYZgvJVg
https://dl.doubtnut.com/l/_LHvu4WafcRX6

5. Which has the maximum number of molecules among the following

B. 649502

C. 449002

D. 48903

Answer: A

o Watch Video Solution

6. When 22.4L of Hs(g) is mixed with 11.2 of Cly(g), each at STP, the
moles of HCl(g) formed is equal to

A. 0.5 mol of HCl(g)

B. 1.5 mol of HC(g)

C. 1mol of HCl(g)


https://dl.doubtnut.com/l/_uhwhMmrTlJlq
https://dl.doubtnut.com/l/_X06Ws6Cz6DnA

D. 2 mol of HCl(g)

Answer: C

o Watch Video Solution

7. The number of water molecules is maximum in

A. 18 molecules of water

B. 1.8 gram of water

C. 18 gram of water

D. 18 moles of water

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_X06Ws6Cz6DnA
https://dl.doubtnut.com/l/_eIVUFRk8PAGs

8. If Avogadro number Ny is changed from 6.022 x 10%mol ! to 6
.022 x 10?°mol ~ !, this would change:
A. The definition of mass in units of grams
B. The mass of one mole of carbon
C.the ratio of chemical species to each other in a balanced
equation

D. The ratio of elements to each other in a compound

Answer: B

° Watch Video Solution

9. The maximum amount of BaSO, precipitated on mixing BaCl, (0.5

M) with Hy S0, (1M) will correspond to

A.0O5M


https://dl.doubtnut.com/l/_AxLY0kYorZ8u
https://dl.doubtnut.com/l/_eUmPmu8WVDJj

B.1.0M

C. 18 moles

D. 100 moles

Answer: A

o Watch Video Solution

10. The number of moles of sodium oxide in 620 g of it is

A. 1 mol

B. 10 moles

C. 18 moles

D. 100 moles

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eUmPmu8WVDJj
https://dl.doubtnut.com/l/_eiT9iuo2TyYM

11. 80 g of oxygen contains as many atoms as in

A.10 g of hydrogen

B.5 g of hydrogen

C. 80 g of hydrogen

D.1 g of hydrogen

Answer: B

o Watch Video Solution

12. The number of sodium atoms in 2 moles of sodium ferrocyanide is

A 12 x 10%

B.26 x 10%

C.34 x 10%

D. 48 x 1023


https://dl.doubtnut.com/l/_qpuWvg8ClCGI
https://dl.doubtnut.com/l/_Zw1ux22o39oO

Answer: D

o Watch Video Solution

13. The total number of gram-molecules of SO;Cly in 135 g of

sulphuryl chloride is

A. 0.1

B.0.2

C.03

D.04

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Zw1ux22o39oO
https://dl.doubtnut.com/l/_wfqbbUnCKNHz

14. The molarity of orthophosphoric acid having purity of 70% by

weight and specific gravity 1.54 would be

ATITM
B.22 M
C.33 M

D.44 M

Answer: A

° View Text Solution

15. Number of atoms of He in 100 atoms of He (at.mass 4 amu) is

A. 25
B. 100

C.50


https://dl.doubtnut.com/l/_QohsyDmnbvol
https://dl.doubtnut.com/l/_WC2zef0heX6i

D.100 x 6 x 10~ %

Answer: A

o Watch Video Solution

16. If 1 ml of water contains 20 drops. Then no. of molecules in a drop of

water is

A. 6.023 x 10%® molecules

B.1.376 x 10%® molecules

C.1.677 x 10*' molecules

D. 4.346 x 10%° molecules

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WC2zef0heX6i
https://dl.doubtnut.com/l/_YDSwUIpBQAUQ

17. In an experiment, 4g of M,0, oxide was reduced to 2.8g of the
metal. If the atomic mass of the metal is 56gmol ~!, the number of

oxygen atoms in the oxide is:

Al
B.2
C.3

D.4

Answer: C

° Watch Video Solution

18. A sample of phosphorus trichloride (PCl3) contains 1.4 moles of

the substance. How many atoms are there in the sample ?

A4


https://dl.doubtnut.com/l/_yL1X45A4hF4i
https://dl.doubtnut.com/l/_CuuFwHK96okt

B.5.6

C.8.431 x 10%

D.3.372 x 10**

Answer: D

° Watch Video Solution

19. Which among the following is the heavist?

A. One mole of oxygen

B. One molecule of sulphur trioxide

C. 100 amu of uranium

D. Ten moles of hydrogen

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CuuFwHK96okt
https://dl.doubtnut.com/l/_xgkZmQ4JodFY

20. Which one of the following is the lightest?

A. 0.2 mole of hydrogen gas
B. 6.023 x 10%*2 molecules of nitrogen
C. 0.1 g of silver

D. 0.1 mole of oxygen gas

Answer: C

o Watch Video Solution

21. The number of water molecules in 1L of water is :

A.18

B. 18 x 1000

C.N,

D.55.55N 4


https://dl.doubtnut.com/l/_QG22HRVDS7X0
https://dl.doubtnut.com/l/_pg6qxEhsdMsm

Answer: D

o Watch Video Solution

22. The number of moles of BaC'O3 which contains 1.5 moles of oxygen

atoms is

A.05

B.1

C.3

D.6.02 x 10%

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pg6qxEhsdMsm
https://dl.doubtnut.com/l/_oaYVVItttros

23. 250 ml of a sodium carbonate solution contains 2.65 grams of
NayCOs. If 10 ml of this solution is diluted to one litre, what is the
concentration of the resultant solution (mol. Wt. of Na_(a)CO3 = 106)
A.01M
B. 0.001 M

C.0.01 M

D.1074Mm

Answer: B

° Watch Video Solution

24.The mass of 1 mole of neutrons (mn = 1.675 x 10~ %" kg) is:

A.1.800 x 102 kg

B.1.008 x 10 * kg


https://dl.doubtnut.com/l/_B76kLowXhHI6
https://dl.doubtnut.com/l/_UF2odBrogIjn

C.1.080 x 10 3 kg

D.1.008 x 102 kg

Answer: D

o Watch Video Solution

25. Which has maximum number of atoms

A.24 gms of C'(13)
B. 56 gms of F'e (54)
C.27 gms of Al (97)

D. 108 gms of Ag10s)

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_UF2odBrogIjn
https://dl.doubtnut.com/l/_1wojgBZVmOoT
https://dl.doubtnut.com/l/_2aInJKyAqmRE

26.1n INCORRECT statement for 14 g of COis

A. It occupies 2.24 litre at NTP
1
B. It corresponds to 3 mole of CO
C. It corresponds to same mole of CO and N,

D. It corresponds to 3.01 x 10* molecules of CO

Answer: A

o Watch Video Solution

27. The total number of protons in 10g of calcium carbonate is
(Np = 6.023 x 10%)

A.1.5057 x 10%*

B.2.0478 x 10*

C.3.0115 x 10*

D. 4.0956 x 10%*


https://dl.doubtnut.com/l/_2aInJKyAqmRE
https://dl.doubtnut.com/l/_CI42uBqcsSM5

Answer: C

o Watch Video Solution

28. The number of formula units of calcium fluoride CaF, present in
146.4 g of CaF, (The molar mass of CaF; is 78.08 g/mol) is

A.1.129 x 10**CaF,

B.1.146 x 10**CaF,

C.7.808 x 1 —2* CaF,

D.1.877 x 10**CaF,

Answer: A

° View Text Solution

29. Volume occupied by one molecule of water (density=1g cm ~°)


https://dl.doubtnut.com/l/_CI42uBqcsSM5
https://dl.doubtnut.com/l/_BOempzaztt82
https://dl.doubtnut.com/l/_9zri8sgNdtx6

A. 3.0 x 10" Bem?

B.5.5 x 10~ 2cm?

C.9.0 x 10~ 2B¢em?®

D.6.023 x 1023 cm

Answer: A

° Watch Video Solution

30. The number of gram atom of oxygen in 6.02 x 10** CO molecules is
Al
B.0.5
C.5

D.10


https://dl.doubtnut.com/l/_9zri8sgNdtx6
https://dl.doubtnut.com/l/_TJT0ADKEbfV4

Answer: D

° Watch Video Solution

31. The number of moles of hydrogen that can be added to 1 mole of an

oil is the highest in

A. Linseed oil

B. Groundanut oil

C. Sunflower seed oil

D. Mustard oil

Answer: A

o View Text Solution

32. Mass of 0.1 moleof methane is


https://dl.doubtnut.com/l/_TJT0ADKEbfV4
https://dl.doubtnut.com/l/_MruzpfVk0lKB
https://dl.doubtnut.com/l/_eHkZ07BBTI2D

Albg

B.Olg

Clg

D.16 g

Answer: A

° Watch Video Solution

33. Sodium nitrate on reduction with Zn in presence of NaOH solution
produces NHj. Mass of sodium nitrate nitrate absorbing 1 mole of
electron will be

A.7.750

B.10.625

C. 8.000

D.9.875


https://dl.doubtnut.com/l/_eHkZ07BBTI2D
https://dl.doubtnut.com/l/_kHhkKXfXS7M4

Answer: B

o View Text Solution

34.1 mole of methylamine on reaction with nitrous acid gives at NTP:

A. 1.0 Litre of nitrogen

B. 224 Litre of nitrogen

C. 11.2 Litre of nitrogen

D. 5.6 Litre of nitrogen

Answer: B

° Watch Video Solution

35.100 mL of Oy and H, are kept at same temperature and pressure.

What is true about their number of molecules ?


https://dl.doubtnut.com/l/_kHhkKXfXS7M4
https://dl.doubtnut.com/l/_onxE1VEsg0M8
https://dl.doubtnut.com/l/_qfp8z87e7gU7

A. No, > Ny,

B. Np, < Ny,

C. No, = Ny,

D. No, + Ny, = 1 mole

Answer: C

° Watch Video Solution

36. Common salt obtained from sea water contains 95 % NaCl by
mass. The appoximate number of molecules present in 10.0g of the salt
is

A.10%!

B. 10*2

c.10%

D. 10*


https://dl.doubtnut.com/l/_qfp8z87e7gU7
https://dl.doubtnut.com/l/_klALMUmn1rsi

Answer: C

o Watch Video Solution

37. Which of the following is Loschmidt number

A 6 x 10%

B.2.69 x 10

C.3 x 10%

D. None of these

Answer: B

° Watch Video Solution

38. Assertion: Volume of a gas is inversely proportional to the number

of moles of a gas.


https://dl.doubtnut.com/l/_klALMUmn1rsi
https://dl.doubtnut.com/l/_Vb82J2wJAKEW
https://dl.doubtnut.com/l/_EaIbBqf3u8Kp

Reason: The ratio by volume of gaseous reactants and products is in

agreement with their molar ratio.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

° Watch Video Solution

39. Assertion : One mole of SO, contains double the number of
molecules present in one mole of O,

Reason : Molecular weight of SO, is double to that of Os.


https://dl.doubtnut.com/l/_EaIbBqf3u8Kp
https://dl.doubtnut.com/l/_wnDndz1G3sOM

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

° Watch Video Solution

40. Assertion : 22.4 L of N, at NTP and 5.6 L Oy at NTP contain equal
number of molecules.
Reason : Under similar conditions of temperature and pressure all

gases contain equal number of molecules.


https://dl.doubtnut.com/l/_wnDndz1G3sOM
https://dl.doubtnut.com/l/_IquRpdTyLwOE

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

o Watch Video Solution

41. Assertion: As mole is the basic chemical unit, the concentration of
the dissolved solute is usually specified in terms of number of moles of
solute.

Reason: The total number of molecules of reactants involved ina

balanced chemical equation is known as molecularity of the reaction.


https://dl.doubtnut.com/l/_IquRpdTyLwOE
https://dl.doubtnut.com/l/_jW0jf6Bq0KH7

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: B

° Watch Video Solution

42. Assertion : Atomicity of oxygen is 2.

Reason : 1 mole of an element contains 6.023 x 10%® atoms.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.


https://dl.doubtnut.com/l/_jW0jf6Bq0KH7
https://dl.doubtnut.com/l/_sllNUmUuIJ0k

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: B

° Watch Video Solution

43. In which case is the number of molecules of water maximum?

A. 18 mL of water

B. 0.18g of water

C.0.00224 L of water vapours at 1atm and 273 K

D. 10 2 mol of water

Answer: A



https://dl.doubtnut.com/l/_sllNUmUuIJ0k
https://dl.doubtnut.com/l/_p4th9FqRknbK

[ W Watch Video Solution ]

Ordinary Thinking (Objective Questions) Chemical stochiometry

1. The solution of sulphuric acid contains 80% by weight H5SO;,.

Specific gravity of this solution is 1.71. Its normality is about

A.18.0

B.27.9

C.1.0

D. 10.0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_p4th9FqRknbK
https://dl.doubtnut.com/l/_yMyj49gB6KYq

2. Under similar conditions of pressure and temperature, 40 ml of

slightly moist hydrogen chloride gas is mixed with 20 ml of ammonia

gas, the final volume of gas at the same temperature and pressure will

be

A. 100 ml

B.20 ml

C.40 ml

D. 60 ml

Answer: B

° Watch Video Solution

3. KMnO, react with oxalic acid according to the equation,
2MnO, + 5C,02" +16H ™ — 2Mn** + 10C0O, + 8H,0,  here

20ml of 0.1M KMnQy is equivalemt to


https://dl.doubtnut.com/l/_4lcqUSatZA4X
https://dl.doubtnut.com/l/_7fzPeTNHZLNo

A.20ml of 0.5 M H,C50y4

B. 50 ml of 01 M H,C,0,

C.50 ml of 0.5 M H,C,0,

D. 20 ml of 01 M H,C50,

Answer: B

° Watch Video Solution

4. A compound contains atoms A, B and C. the oxidation number of A is
+2,0f Bis +5 and of Cis — 2. The possible formula of the compound is
A A3(BCy),
B. A3(B4C),
C. ABC,

D. Ay, (BCj3),


https://dl.doubtnut.com/l/_7fzPeTNHZLNo
https://dl.doubtnut.com/l/_ZK9tkf07DsV9

Answer: A

° Watch Video Solution

5.10 g of hydrogen and 64 g of oxygen were filled in a steel vessel and

exploded. Amount of water produced in this reaction will be

A. 2 mol

B. 3 mol

C.4 mol

D. 1 mol

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZK9tkf07DsV9
https://dl.doubtnut.com/l/_qvEYntgFvqaR

6.1.0 g of magnesium is burnt with 0.56 g O in a closed vessel. Which

reactant is left in excess and how much?

A. Mg, 0.44¢g

B. 02, 0.28¢g

C. Mg, 0.16g

D. 02, 0.16¢g

Answer: C

o Watch Video Solution

7.20.0 g of a magnesium carbonate sample decomposes on heating to
give carbon dioxide and 8.0 g magnesium oxide. What be the

percentage purity of magnsesium carbonate in the sample?

A 75


https://dl.doubtnut.com/l/_vBvZdoRqq9E7
https://dl.doubtnut.com/l/_vs6R7jCsipUB

B. 96

C.60

D. 84

Answer: D

° Watch Video Solution

8. What is the mass of the precipitate formed when 50 mL of 16.9%
solution of AgNOj5 is mixed with 50 mL of 5.8% NaCl solution?

A.28g

B.35¢g

C7¢g

D.14g

Answer: C

| ° Ao _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_vs6R7jCsipUB
https://dl.doubtnut.com/l/_3bYDuDSap4BP
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9. Suppose the elements X and Y combine to form two compounds of
XY, and X3Y5. When 0.1 mole of XY5 weighs 10 g and 0.05 mole of
X3Y5 weighs 9 g , what are tha atomic masses of Xand Y ?

A. 30, 20

B. 40, 30

C. 60, 40

D. 20,30

Answer: B

° Watch Video Solution

10. The equivalent weight of phosphoric acid (H3POy) in the reaction

NaOH + H3PO4 — NaH2P04 + H2O is


https://dl.doubtnut.com/l/_3bYDuDSap4BP
https://dl.doubtnut.com/l/_KKAGZpj0VQWH
https://dl.doubtnut.com/l/_wr8XPrwAMrgT

A. 25

B. 49

C.59

D. 98

Answer: D

° Watch Video Solution

1. During electrolysis of water, the volume of oxygen liberate is
2.24dm?>. The volume of hydrogen liberated, under same conditions
will be

A. 2.24dm’

B. 1.12dm’

C. 4.48dm>

D. 0.56dm?


https://dl.doubtnut.com/l/_wr8XPrwAMrgT
https://dl.doubtnut.com/l/_0eBTEzuJZ43H

Answer: C

° Watch Video Solution

M
12. A solution of 1Oml1—OFeSO4 war titrated with KMnQ, solution in

acidic medium. The amount of KM NQO, used will be

A.5mlof 01 M
B.10 mlof 11 M
C.10 ml of 0.5 M

D. 10 ml of 0.02 M

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0eBTEzuJZ43H
https://dl.doubtnut.com/l/_bsjz8CqYde2k

13. Equivalent weight of KMnQO, acting as an oxidant in acidic medium
is

A. The same as its molecular weight

B. Half of its molecular weight

C. One-third of its molecular weight

D. One-fifth of its molecular weight

Answer: D

o Watch Video Solution

14.The percentage of P,O5 in diammonium hydrogen phosphate is:

A.2348
B. 46.96

C.53.78


https://dl.doubtnut.com/l/_sFqdlV1MMfJA
https://dl.doubtnut.com/l/_Q7cEuMxC2M5t

D. 71.00

Answer: C

° Watch Video Solution

15. KMnQO, reacts with ferrous ammonium sulphate according to the
equation MnO, + 5Fe’t + 8H' — Mn?T +5Fe®t + 4H,0,
here 10m! of 0.1M K MnQy is equivalent to

A.20ml of 01 M FeSOy

B.30 ml of 01 M FeSOy

C.40ml of 01 M FeSO,

D.50 ml of 0.1 M FeSO,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Q7cEuMxC2M5t
https://dl.doubtnut.com/l/_9qparHL1Ov5h
https://dl.doubtnut.com/l/_gNAZ0sQy5WeR

16. What is the stoichiometric coefficient fo Ca in the reaction ?

Ca + APt — Ca®t + Al

A2
B.1
C.3

D.4

Answer: C

o Watch Video Solution

17.When 2.76g of silver carbonate is strongly heated, it yields a residue

weighing

A.216¢g

B.248 g



https://dl.doubtnut.com/l/_gNAZ0sQy5WeR
https://dl.doubtnut.com/l/_pdkjlkm8s3fe

C.264g

D.232g

Answer: A

° Watch Video Solution

18.1n the complex with formula M Cl3.4H50 the co-ordination number
of the metal M is six. And there is a no molecule of hydration in it. The
volume of 0.1 M AgNOs solution needed to precitate the free chloride
ions in 200 ml of 0.01 M solution of the complex is

A .40 ml

B.20 ml

C.60 ml

D. 80 ml

Answer: B


https://dl.doubtnut.com/l/_pdkjlkm8s3fe
https://dl.doubtnut.com/l/_T35LPfxedPIC

° Watch Video Solution

19. How many mL of perhydrol is requried to produce sufficient oxygen

which can be used to completely convert 2 L of SO, gas of SO3 gas?

A.10 mL

B.5mL

C.20mL

D.30 mL

Answer: A

° Watch Video Solution

20. One mole of potassium dichromate completely oxidises the

following number of moles of ferrous sulphate in acidic medium


https://dl.doubtnut.com/l/_T35LPfxedPIC
https://dl.doubtnut.com/l/_ofKzRS8Volda
https://dl.doubtnut.com/l/_l1wC72jK31dq

Al

B.3

C.5

D.6

Answer: D

° Watch Video Solution

21.1 g of a mixture of Na HCO3 and Na,COs is heated to 150° C. The
volume of the CO; produced at STP is 1120 mL. Calculate the
percentage of NasCOj in the mixture (Na = 23, C = 12,0 = 16)

A. 20

B. 46

C. 84

D.16


https://dl.doubtnut.com/l/_l1wC72jK31dq
https://dl.doubtnut.com/l/_7quY3DxKP3QQ

Answer: D

° Watch Video Solution

22. In order to prepare one litre normal solution of KMnQO,, how
many grams of KMnQO, are required if the solution is used in acidic
medium for oxidation

A.158 g

B.316¢g

C.790 g

D.62g

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7quY3DxKP3QQ
https://dl.doubtnut.com/l/_smCqF7w10axF

23.The oxygen obtained form 72 kg of water is

A. 72 kg

B. 46 kg

C.50 kg

D. 64 kg

Answer: D

o Watch Video Solution

24. What volume of oxygen gas (O,) measured at 0°C and 1 atm is
needed to burn completely 1L of propane gas (C3Hg) measured
under the same condition?

AS5L

B.10L


https://dl.doubtnut.com/l/_QvDc4VFR44yE
https://dl.doubtnut.com/l/_ikwaFHBFSoXv

C7L

D.6L

Answer: A

° Watch Video Solution

25. In the reaction:

2Al(5) + 6HCl (4. ) — 2AL7

(ag.)

+ 6Cl +3H2(g)

(ag.)

A.6LHCI ,q) is consumed for every 3LH, (4) produced

B.33.6LH; () is produced regardless of temperature and pressure
for avery mole Al that reacts

C.67.2LH, 4 at STPis produced for every mole Al that reacts

D.11.2H, 4 at STPis produced for every mole HCl (,4) consumed

aq)

Answer: D

l o A _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_ikwaFHBFSoXv
https://dl.doubtnut.com/l/_CsBaJerMv9Ft
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26. Acidified potassium permanganate soultion is decoloursied by

A. Bleaching powder

B. White vitriol

C. Mohr's salt

D. Microcosmic salt

Answer: C

° Watch Video Solution

27.12 g of Mg (at. Mass 24) will react completely with acid to give

A. One mole of H,

B.1/2 mole of H,

C.2/3 mole of Oy


https://dl.doubtnut.com/l/_CsBaJerMv9Ft
https://dl.doubtnut.com/l/_iJYb2C2S0fJK
https://dl.doubtnut.com/l/_yVObBeiDDq9a

D.Both 1 /2 mol of Hy and 1/2 mol of O,

Answer: B

o Watch Video Solution

28.Ca(OH), + H3PO, — CaHPO, + 2H,0 the equivalent weight
of H3 PO, in the above reaction is

A. 21

B. 27

C.38

D. 49

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_yVObBeiDDq9a
https://dl.doubtnut.com/l/_swbCrYD9NEOX

29. 5 litre of a solution contains 25 mg of CaCO3. What is its

concentration in ppm? (mol.wt of CaCOj is 100)

A. 25

B.1

C.5

D. 2500

Answer: C

o Watch Video Solution

30. In the reaction, ANH3(g) + 505(g) — 4NO(g) + 6H50(g), when

1 mole of ammonia and 1 mole of O, are made to react to completion

A. 1.0 mole of H5O is produced

B. 1.0 mole of NO will be produced


https://dl.doubtnut.com/l/_O7tE0rfcXqCy
https://dl.doubtnut.com/l/_uPhEOR3YYBlO

C. All the oxygen will be consumed

D. All the ammonia will be consumed

Answer: C

o Watch Video Solution

31.1.5 mol of Oy combines with Mg to form oxide MgO. The mass of Mg

(at. Mass 24) that has combined is

A72¢g

B.36g

C.48¢g

D.24g

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uPhEOR3YYBlO
https://dl.doubtnut.com/l/_LVDuZ3QzjnZ8

32. How much of NaOH is reuired to neutralise 1500 ¢m?® of 01 N HCl

(Na=23)?

A.40g

B.4g

C.6g

D.60 g

Answer: C

o Watch Video Solution

33. The decomposition of cetian mass of CaCOj gave 11.2dm> of CO,
gas at STP. The mass of KOH required to completely neutralise the gas

is:

A.56¢g


https://dl.doubtnut.com/l/_4yQrmuNnykvW
https://dl.doubtnut.com/l/_IcE1LaRvS7NS

B.28 g

C42g

D.20g

Answer: B

° Watch Video Solution

34. For the reaction Fey0O3 + 3CO — 2Fe + 3CQO,, the volume of
carbon monoxide required to reduce one mole of ferric oxide is

A. 67.2dm’

B. 11.2dm°

C.22.4dm°

D. 44.8dm?>

Answer: A

| o A _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_IcE1LaRvS7NS
https://dl.doubtnut.com/l/_1cngA06Kj7kD
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35. Number of hydrogen ions present in 10 millionth part of 1.33c¢m? of
pure water at 25°C'is

A. 6.023 million

B. 60 million

C. 8.01 million

D. 80.23 million

Answer: C

o Watch Video Solution

36. If CO, gas is passed through 500 ml of 0.5(M)Ca(OH),, the

amount of CaCOj produced is

A10g


https://dl.doubtnut.com/l/_1cngA06Kj7kD
https://dl.doubtnut.com/l/_pN1cWXrCy9U1
https://dl.doubtnut.com/l/_4Eut6bNDpVVw

B.20 g

C.50g

D.25g

Answer: D

° View Text Solution

37. The mass of BaCOj3; produced when excess CO, is bubbled
through a solution of 0.205 mol Ba(OH), is

A.8lg

B.405g

C.2025g

D.162 g

Answer: B

| ° ... L~



https://dl.doubtnut.com/l/_4Eut6bNDpVVw
https://dl.doubtnut.com/l/_EW5QKvu9m1BD
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38. Mohr's salt is dissolved in dil. H, SO, instead of distilled water to

A. Enhance the rate of dissolution

B. Prevent cationic hydrolysis

C.Increase the rate of ionisation

D. Increase its reducing strength

Answer: B

o Watch Video Solution

39. If isobutane and n-butane are present in a gas, then how much

oxygen should be required for complete combustion of 5 kg of this gas

A.179 kg

B.9 kg


https://dl.doubtnut.com/l/_EW5QKvu9m1BD
https://dl.doubtnut.com/l/_jzLBGBPBNGOJ
https://dl.doubtnut.com/l/_44EYj5zVsikQ

C.27 kg

D.1.8 kg

Answer: A

o Watch Video Solution

40. The correct order of stoichiometries of AgCI formed when

AgNOs in excess is treated with the complex:

CoClI;. 6NHs, CoClI3. 5SNH3, CoCl3. 4N Hj respectively is:
A.3AgCl, 1lagCl, 2AgClI
B.3A4gCl, 2AgCl, 1AgCI
C.244Cl,3A4Cl, 1AgCl

D.1AgCl, 3AgCl, 2AgCl

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_44EYj5zVsikQ
https://dl.doubtnut.com/l/_45HMRIr6d8r4

41. A mixture of 2.3 g formic acid and 4.5 g oxalic acid is treated with

conc. H,50,. The evolved gaseous mixture is passed through KOH

pellets. Weight (in g) of the remaining product at STP will be

Al4

B.3.0

C.2.8

D.4.4

Answer: C

° Watch Video Solution

42. Consider the change in oxidation state of Bromine corresponding

to different emf values as shown in the diagram below


https://dl.doubtnut.com/l/_45HMRIr6d8r4
https://dl.doubtnut.com/l/_pCayngAxnEFY
https://dl.doubtnut.com/l/_Nu3UI6IwDnmR

&

Then the species undergoing disproportionation is
A.BrOg
B.BrO,
C. B’l"g

D. HBrO

Answer: D

° View Text Solution

Ordinary Thinking (Objective Questions) Oxidation, Reduction, Oxidizing

and Reducing agent

1. Which substance is serving as a reducing agent in the following
reaction?

14H* + Cry02” + 3Ni — 2Cr3" + TH,0 + 3Ni**


https://dl.doubtnut.com/l/_Nu3UI6IwDnmR
https://dl.doubtnut.com/l/_MV4iUJMHndOY

A. H>,0
B. Ni
CHT

D. Cry02~

Answer: B

o Watch Video Solution

2. The oxide which cannot act as reducing agent is

A. SO,

B. NO,

C.CO,

D. ClO,

Answer: C



https://dl.doubtnut.com/l/_MV4iUJMHndOY
https://dl.doubtnut.com/l/_pRQFltTv1LUF

[ W Watch Video Solution ]

3. Which is the best description of the behaviour of bromine in the

reaction given below

H,0 + Bry - HOBr + HBr

A. Oxidised only

B. Reduced only

C. Proton acceptor only

D. Both oxidised and reduced

Answer: D

o Watch Video Solution

4.(a) H202 + 03 — H20 + 202

Role of hydrogen peroxide in the above reactions is respectively


https://dl.doubtnut.com/l/_pRQFltTv1LUF
https://dl.doubtnut.com/l/_8Xc2pgvtnbFS
https://dl.doubtnut.com/l/_6zO2AtqtXlCO

A. Reducing in (i) and (ii)

B. Oxidizing in (i) and (ii)

C. Oxidizing in (i) and reducing in (ii)

D. Reducing in (i) and oxidizing in (ii)

Answer: C

° Watch Video Solution

5. The compound that can work both as oxidising and reducing agent

is

A. KMnO4

B. H202

C. BCI,OQ

D. K20T207


https://dl.doubtnut.com/l/_6zO2AtqtXlCO
https://dl.doubtnut.com/l/_sXTYj3nhqoB6

Answer: B

o Watch Video Solution

6. Following reaction describes the rusting of iron
4Fe 4 30, — 4Fe* " + 60~
Which one of the following statements is incorrect?
A. This is an example of a redox reaction
B. Metallic iron is reduced to Fe3™
C. Fe3™ is an oxidising agent

D. Metallic iron is a reducing agent

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sXTYj3nhqoB6
https://dl.doubtnut.com/l/_43YWWPN53epW

7.The strongest reducing agent is

AF~

B.Cl™

C.Br—

D.I™

Answer: D

° Watch Video Solution

8. Oxidation involves

A. Loss of electrons

B. Gain of electrons

C.Increase in the valency of negative part

D. Decrease in the valency of positive part


https://dl.doubtnut.com/l/_peW9H00GkDBe
https://dl.doubtnut.com/l/_Av2oURgcRPMy

Answer: A

° Watch Video Solution

9. Areducing agent is a substance which can

A. Accept electron

B. Donate electrons

C. Accept protons

D. Donate protons

Answer: B

° Watch Video Solution

10. When zinc is added to CuSO, solution, copper is precipitated. It is

because of



https://dl.doubtnut.com/l/_Av2oURgcRPMy
https://dl.doubtnut.com/l/_QRHfLTk91lF4
https://dl.doubtnut.com/l/_5P05WYnSyxTM

A. Oxidation of Cu*2

B. Reduction of Cu 12

C. Hydrolysis of CuSO,

D. lonization of CuSOy

Answer: B

o Watch Video Solution

11. Which one is oxidising substance?

A.CyH,0,

B.CO

C.H,S

D.CO,

Answer: D



https://dl.doubtnut.com/l/_5P05WYnSyxTM
https://dl.doubtnut.com/l/_BgFtYi4Aeo7J

[ W Watch Video Solution ]

12.In C + H,O — CO + H,, H5O acts as

A. Oxidising agent

B. Reducing agent

C.(a) and (b) both

D. None of these

Answer: A

° Watch Video Solution

13. Which of the following statements are correct concerning redox
properties?

(i) A metal M for which E° for the half cell reaction
M"" +ne~ < M is very negative will be a good reducing agent.

(ii) The oxidizing power of the halogen decreases from chlorine to


https://dl.doubtnut.com/l/_BgFtYi4Aeo7J
https://dl.doubtnut.com/l/_sQy42C9Uuq4q
https://dl.doubtnut.com/l/_q3mVqaVd9wi4

iodine.

(iii) The reducing power of hydrogen halides increases from hydrogen

chloride to hydrogen iodide.

A. (i), (ii) and (iii)

B. (i) and (ii)

C. (i) only

D. (ii) and (iii)

Answer: A

° Watch Video Solution

14. Which of the following species can functon as an oxidising as well

as reducing agent ?

ACl™

B.CIO,


https://dl.doubtnut.com/l/_q3mVqaVd9wi4
https://dl.doubtnut.com/l/_R6YAMrgu71Pp

C.ClO~

D. MnO,

Answer: C

o Watch Video Solution

15. In the reaction.

HQS + H202 — S+ 2H2O

A. H, S is an acid and H,0, is a base

B. HyS is a base and H,0, is an acid

C. H,S is an oxidizing agent and H50, is a reducing agent

D. H,S is a resucing agent and H,0, is oxidizing agent

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_R6YAMrgu71Pp
https://dl.doubtnut.com/l/_jBRAR5RzREQ6

16. The ion(s) that act/s as oxidizing agent in solution is/are

A.TlT and APT
B.B3T and A*T
C. TP only

D. B3 only

Answer: C

o Watch Video Solution

17. Pick out the stronger reducing agent among the following oxyacids

of phosphorus

A. Hypophosphorous acid

B. Phosphorous acid

C. Hypophosphoric acid


https://dl.doubtnut.com/l/_rtzyItjA9Bws
https://dl.doubtnut.com/l/_qYoAhxOgGclw

D. Pyrophosphorous acid

Answer: A

° Watch Video Solution

18. Which of the following pairs of transition metal ions are the

stronger oxidising agents in aquesous solutions

A V2t and Or2t

B.T%%" and Cr®™*

C.Mn2" and Co®*

D.V2*t and Fe?™

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_qYoAhxOgGclw
https://dl.doubtnut.com/l/_O93JRM6gL2sz

19. Which one is an oxidising agent

A FeSOy
B. HNOs
C. FGSO4. (NH4)2SO46H2O

D. H,S0,

Answer: B::D

o Watch Video Solution

20. When copper turnings are added to silver nitrate solution, a blue

coloured solution is formed after sometime. It is because, copper

A. Displaces silver from the solution

B. Forms a blue coloured complex with AgNO;

C.lIs oxidised to Cu’™


https://dl.doubtnut.com/l/_y3gEczikCayG
https://dl.doubtnut.com/l/_jSZrHfQgQmgX

D.Is reduced to Cu?™

Answer: A::C

o Watch Video Solution

21. Maximum number of moles of electrons taken up by one mole of
NOg when it is reduced to :

A.NH;

B.NH,OH

C.NO

D. NO,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jSZrHfQgQmgX
https://dl.doubtnut.com/l/_wsKvTGyGKxJ7

22. One gas bleaches the colour of flowers by reduction and other by

oxidation. These gases are

A.CO and Cl,

B. SOQ and Ol2

C. HQS and B’I"2

D. NH5 and SO,

Answer: B

° Watch Video Solution

23. Which of the following is not a reducing agent?

A NCLNO2

B. N(J,NOg

C.HI


https://dl.doubtnut.com/l/_mxEWs0ZUTqRJ
https://dl.doubtnut.com/l/_vipiwsiaSAmD

Answer: B

o Watch Video Solution

24. In which of the following reactions, H,O, is acting as a reducing

agent?

A SO2 + H202 — HQSO4

B.2KI + H,0Oy — 2KOH + I,

C. PbS + 4H,05 — PbSO, + 4H,0

D. AQQO + H202 — 2Ag + HQO + 02

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vipiwsiaSAmD
https://dl.doubtnut.com/l/_QwYZmsvjTVEh

25. H,O, reduces K, Fe(CN),

A. In neutral solution
B. In acidic solution
C.In non-polar solvent

D. In alkaline solution

Answer: B

o Watch Video Solution

26. In acidic medium, reaction MnO, < Mn?®™" is an example of -

A. Oxidation by 3 electrons
B. Reduction by 3 electrons
C. Oxidation by 5 electrons

D. Reduction by 5 electrons


https://dl.doubtnut.com/l/_vmoEfL7vkt5Y
https://dl.doubtnut.com/l/_icPPRFTNWNx4

Answer: D

o Watch Video Solution

27. In the following reaction

3Bry + 6CO3~ + 3H,0 — 5Br~ + BrO; + 6HCO,
A. Bromine is oxidised and carbonate is reduced
B. Bromine is reduced and water is oxidised
C.Bromine is neither reduced nor oxidised

D. Bromine is both reduced and oxidised

Answer: D

° Watch Video Solution

28.In the reaction 3Mg + Ny — MgsN,


https://dl.doubtnut.com/l/_icPPRFTNWNx4
https://dl.doubtnut.com/l/_ZmTEAdgCRq9m
https://dl.doubtnut.com/l/_lYYJd8fCcgWq

A. Magnesium is reduced

B. Magnesium is oxidized

C. Nitrogen is oxidized

D. None of these

Answer: B

° Watch Video Solution

29. Reducing property of SO5 is shown in the reaction

B.I, + SOy + HyO — SO>™ +2I~ +4H™
C.3Fe + SOy — 3FeO + FeS

D.4NA + 3502 — Na2503 + Na25203

Answer: B



https://dl.doubtnut.com/l/_lYYJd8fCcgWq
https://dl.doubtnut.com/l/_Jx77msSgtQ6S

[ W Watch Video Solution

30. H,.S may provide the colloidal sulphur by

A. Oxidation

B. Reduction

C. Neutralization

D. Hydrolysis

Answer: A

° Watch Video Solution

31. Which one of the following does not get oxidised by bromine water

A Fet?to Fet3

B.Cut to Cu™?


https://dl.doubtnut.com/l/_Jx77msSgtQ6S
https://dl.doubtnut.com/l/_uK7065QtdMAq
https://dl.doubtnut.com/l/_bHZAi6KWI41x

C.Mn*t2to MnO,

D.Sn"2to Sn**

Answer: C

o Watch Video Solution

32. Of the four oxyacids of chlorine the strongest oxidising agent in

dilute aqueous solution is :

A . HCIO,

B. HCIO4

C. HClO,

D. HOCI

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bHZAi6KWI41x
https://dl.doubtnut.com/l/_KSQqN9qAP0SW

33.In the reaction P + NaOH — PHs; + NaH,PO,

A. P is oxidised only

B. P is reduced only

C.Pis oxidized as well as reduced

D. Na is reduced

Answer: C

o Watch Video Solution

34. Which statement is NOT true for the given reaction
Fe3™ 4+ e~ — Fe*t?

A. Fe* ™ being reduced

B. Oxidation state of Fe has changed

C. Fe3 " could be referred to an oxidising agent in this reaction


https://dl.doubtnut.com/l/_K0FbuPdtr79k
https://dl.doubtnut.com/l/_5xvK2DpUkpUN

D.Both Fe3 T and Fe?™ are called acid radicals

Answer: D

o Watch Video Solution

35.In the reaction Pb(s) + Cu?" (aq) — Pb*" (aq) + Cu(s) which is
reducing agent

A. P¥** (aq)

B. Cu®™ (aq)

C. Pb(s)

D. Cu(s)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5xvK2DpUkpUN
https://dl.doubtnut.com/l/_nqFG1i7ahUre

36. In reaction of hydrogen peroxide and sodium carbonate, H,O, acts

as

A. Oxidising agent

B. Reducing agent

C. Bleaching agent

D. Both oxidising and bleaching agent

Answer: B

o Watch Video Solution

37.Serveral blocks of magnesium are fixed to the bottom of a ship to

A. Keep away the sharks

B. Make the ship lighter

C. Prevent action of water and salt


https://dl.doubtnut.com/l/_8O9aRd5ESHgB
https://dl.doubtnut.com/l/_sfyGLUtDQhcY

D. Prevent puncturing by under-sea rocks

Answer: C

o Watch Video Solution

38. Which of the following chemical reactions depicts the oxidizing
behaviour of Hy SO, ?

A 2HI + H2504 — I, + SO2 + 2H20

B. CG(OH)Z + HyS504 — CaS0O4 4+ 2H50

C.NaCl 4+ Hy,504, —+ NaHSO4 + HCI

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_sfyGLUtDQhcY
https://dl.doubtnut.com/l/_0GemM9al23u1

39. Strongest reducing agent is-

A. K

B. Mg

C.Al

D.Br

Answer: A

° Watch Video Solution

40. Which of the following acids possesses oxidising, reducing, and

complex forming properties ?

A HNO;

B. H,SO,

C.HCI


https://dl.doubtnut.com/l/_JFzp2P7CRsqz
https://dl.doubtnut.com/l/_ZTTEfiiHti2O

D. HNO,

Answer: D

o Watch Video Solution

41. Which is not oxidised by MnO (2)?

A F
B. Cl
C.Br

D.1

Answer: A

o Watch Video Solution

42.What is the oxidation state of iodine in H5IOg ?


https://dl.doubtnut.com/l/_ZTTEfiiHti2O
https://dl.doubtnut.com/l/_a5ZuUbmTq3TC
https://dl.doubtnut.com/l/_QnhpFmoHRmZ2

A9

B.5

C.7

D.2

Answer: C

° Watch Video Solution

43. The ultimate products oxidation of most of hydrogen and carbon in

food stuffs are

A. H,O alone

B. CO, alone

C. H,0O and CO,

D. None of these


https://dl.doubtnut.com/l/_QnhpFmoHRmZ2
https://dl.doubtnut.com/l/_VdVXGE3M1nqI

Answer: C

° Watch Video Solution

44.Which of the following substances acts as an oxidising as well as a

reducing agent?

A. NCLQO

C. Na/202

D. NaN02

Answer: D

o Watch Video Solution

45.The oxidant which is used as an antiseptic is


https://dl.doubtnut.com/l/_VdVXGE3M1nqI
https://dl.doubtnut.com/l/_zLGnzJKq7M4E
https://dl.doubtnut.com/l/_TYI5wEkz5okI

A KBT'O?,

B. KMnO4

C. C’T’Og

D. KNO;

Answer: B

o Watch Video Solution

46. What is the oxidising agent in chlorine water ?

A.HCI

B. HCIO,

C. HOCI

D. None of these

Answer: C



https://dl.doubtnut.com/l/_TYI5wEkz5okI
https://dl.doubtnut.com/l/_XqDvRwwkthJG

[ W Watch Video Solution

47.In organic reactions , metallic lithium in liquid ammonia behaves as

A. Oxidising agent

B. Reducing agent

C.Bleaching agent

D. Dehydrating agent

Answer: B

° Watch Video Solution

48. In the reaction

HAsO, + Sn*T — As + Sn*™ + H,O oxidising agent is

A Sn2t

B.Snt"


https://dl.doubtnut.com/l/_XqDvRwwkthJG
https://dl.doubtnut.com/l/_yUMwKwd5x2iH
https://dl.doubtnut.com/l/_P7oyH2TICCUa

C. As

D. HA802

Answer: D

° Watch Video Solution

49. Consider the following statements :
In the chemical reaction
(1) Manganese ion is oxidised (2) Manganese ion is reduced
(3) Chloride ion is oxidised (4) Chloride ion is reduced
which of theses statements are correct

A.1and 3

B.1and 4

C.2and 3

D.2and 4


https://dl.doubtnut.com/l/_P7oyH2TICCUa
https://dl.doubtnut.com/l/_p8sgna0mcmkt

Answer: C

° Watch Video Solution

50. When NaCl is dissolved in water the sodium ion becomes

A. Oxidised

B. Reduced

C. Hdrolysed

D. Hydrated

Answer: D

° Watch Video Solution

51. Assertion (A): SO, and Cl, are both bleaching agents.

Reason (R ): Both are reducing agents.


https://dl.doubtnut.com/l/_p8sgna0mcmkt
https://dl.doubtnut.com/l/_XyNSYl0ax7j9
https://dl.doubtnut.com/l/_SHGKFIYohVGu

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: C

° Watch Video Solution

52. Assertion: Stannous chloride is a powerful oxidising agent which
oxidises mercuric chloride to mercury
Reason: Stannous chloride gives grey precipitate with mercuric

chloride, but stannic chloride does not do so.


https://dl.doubtnut.com/l/_SHGKFIYohVGu
https://dl.doubtnut.com/l/_07hb9xA4h7oR

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

° Watch Video Solution

53. Assertion : In a reaction
Zn sy + CuSO0y4(qq) — ZnSOy(aq) + Cu(,), Zn is a reductant but
itself get oxidized.

Reason : In a redox reaction, oxidant is reduced by accepting electrons

and reductant is oxidized by losing electrons.


https://dl.doubtnut.com/l/_07hb9xA4h7oR
https://dl.doubtnut.com/l/_IMY6XooPkhqH

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

° Watch Video Solution

54. Statement 1: HySO,4 cannot act as reducing agent.

Statement 2 : Sulphur cannot increase its oxidation number beyond +

6.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.


https://dl.doubtnut.com/l/_IMY6XooPkhqH
https://dl.doubtnut.com/l/_HIsV3uOmj9ee

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

° Watch Video Solution

Ordinary Thinking (Objective Questions) Oxidation number and Oxidation

state

1. In which of the following compounds transition metal has zero

oxidation state ?

A. C’I"O5

B. NH,. NH,

C. NOCIO,


https://dl.doubtnut.com/l/_HIsV3uOmj9ee
https://dl.doubtnut.com/l/_oLwIgJ5MrpTs

D. [Fe(CO);]

Answer: D

o Watch Video Solution

2. The oxidation state of Fe in Fle3Qy is :

w|oo i|ot ok | w

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oLwIgJ5MrpTs
https://dl.doubtnut.com/l/_gDukqZ4FiGvY

3. When KMnQy is reduced with oxalic acid in acidic solution, the

oxidation number of Mn changes from

A 7to4

B.6to 4

C.7to2

D.4to 2

Answer: C

o Watch Video Solution

4. The oxidation states of sulphur in the anions 5’037, SZO?[, and

520(25* follow the order

A. 8,02 < 8,03 < SO3~

B.$,0; < SO~ < S,0%~


https://dl.doubtnut.com/l/_HBTVJzfdKqDA
https://dl.doubtnut.com/l/_VTxORFc4c0mY

C. 80" < 8,05 < $,0%~

D. $,0% < 8,03 < SO~

Answer: B

o Watch Video Solution

5. Oxidation numbers of P in POZ_, of S in SOZ_, and that of Cr in
CrzOg_ are respectively,

A +5 +6 and +6

B.+3, +6 and + 5

C.+5 +3and +6

D.—3, +6 and + 6

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VTxORFc4c0mY
https://dl.doubtnut.com/l/_eA3tg31OG73e

6. Oxidation no. of P in H4P,Os5, HP;O4, and H,;P,0O; are

respectively

A+3, +4, +5

B.+3, +5, +4

C.+5, +3, +4

D.+5, +4, +3

Answer: A

o Watch Video Solution

7. When Cl, gas reacts with hot and concentrated sodium hydroxide

solution, the oxidation number of chlorine changes from

A. Zero to +1 and Zero to -5

B. Zero to -1 and Zero to +5


https://dl.doubtnut.com/l/_tIjUTdVHzqfy
https://dl.doubtnut.com/l/_HLn703wupTDw

C.Zero to -1 and Zero to +3

D. Zero to +1 and Zero to -3

Answer: B

o Watch Video Solution

8. In which of the following compounds nitrogen exhibits highest

oxidation state

A N, H,

B. NH;

C. Nz H

D. NH,OH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HLn703wupTDw
https://dl.doubtnut.com/l/_MeFTYY9WxiMm

9. A mixture of potassium chlorate, oxalic acid and sulphuric acid is

heated. During the reaction which element undergoes maximum

change in the oxidation number?

AS
B.H
c.c

D.C

Answer: C

° Watch Video Solution

10. Among the following, the correct order of acidity is:

A .HCIO; < HCIO4 < HCIO5 < HCIO

B. HCIO < HCIlO, < HClO5 < HCI1O,


https://dl.doubtnut.com/l/_tFURCveB1jaX
https://dl.doubtnut.com/l/_APElRqgwwUvo

C.HCIOy < HCIO < HCIO3 < HCIOy,

D. HClO4 < HClO, < HCIO < HCIO;

Answer: B

° Watch Video Solution

11. Hot concentrated sulpuric acis is a moderatly strong oxidizing
agent. Which of the following reaction does not shwo oxidizing
behaviour?

A CCLFg + H2504 — CCLSO4 + 2HF

B.Cu + 2HQSO4 — CUSO4 + SO2 + 2H20

D.C + 2H2SO4 — 002 + 2502 + 2H2O

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_APElRqgwwUvo
https://dl.doubtnut.com/l/_Xn1SYBITinMY

12. Oxidation number of nickel in Ni(CI),

A.O

B.+4

D.+2

Answer: A

o Watch Video Solution

13. The oxidation state of sulphur in NayS4Og is

@
olw |w w|N


https://dl.doubtnut.com/l/_Xn1SYBITinMY
https://dl.doubtnut.com/l/_WWhew7jlduRO
https://dl.doubtnut.com/l/_xodxd5AUbg8U

Answer: D

o Watch Video Solution

14. Oxidation number of osmium (Os) in OsOy is

A +4
B.+6
C.+7

D.+38

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xodxd5AUbg8U
https://dl.doubtnut.com/l/_Gwq4ZS47OjEm

15. HNQO, acts both as reductant and as oxidant, while HNQO;3 acts

only as oxidant. It is due to their

A. Solubility ability

B. Maximum oxidation number

C. Minimum oxidation number

D. Minimum number of valence electrons

Answer: B

o Watch Video Solution

16. Oxidation number of fluorine in F5O is:

B.+1

C.+2


https://dl.doubtnut.com/l/_z0lDAYarjEjc
https://dl.doubtnut.com/l/_ufos5OkA5F32

Answer: A

o Watch Video Solution

17. The oxidation number of Cr in K;Cry07 is

A +6

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ufos5OkA5F32
https://dl.doubtnut.com/l/_9SmW47SuWQpS

18. When sodium reacts with excess of oxygen, oxidation number of

oxygen changes from

A.O

B.O—-1

C.1

D.0-2

Answer: B

° Watch Video Solution

19. If HNOj3 changes into N, O, the oxidation number is changed by

A +2

C.0


https://dl.doubtnut.com/l/_qk8qLX2hVyzA
https://dl.doubtnut.com/l/_pUWxBVBth2GF

D.+4

Answer: D

o Watch Video Solution

20. What is the oxidation number of Co in [Co(NHj3),CINO,|?

A +2
B.+3
C.+4

D.+5

Answer: A

o Watch Video Solution

21. The oxidation state of nitrogen is highest in


https://dl.doubtnut.com/l/_pUWxBVBth2GF
https://dl.doubtnut.com/l/_9UbSfcOnpBdw
https://dl.doubtnut.com/l/_FEah856hneZt

A N H

B. NH,OH

C. NyH,

D. NH;

Answer: A

° Watch Video Solution

22.1n which reaction there is a change in valency

A. 2N02 — N204
C.NH,OH — NH,” + OH~

D. C(I,COg — CaO + 002

Answer: B



https://dl.doubtnut.com/l/_FEah856hneZt
https://dl.doubtnut.com/l/_PNBcVBkbYWAb

[ W Watch Video Solution ]

23. When SO, is passed through acidic solution of potassium

dichromate, then chromium sulphate is formed. Change in valency of

chronium is

A +4to+2

B.+5to +3

C.+6to+3

D.+7to+2

Answer: C

° Watch Video Solution

24.The oxidation state of M3 after removing three elelctrons is

A.”Zero


https://dl.doubtnut.com/l/_PNBcVBkbYWAb
https://dl.doubtnut.com/l/_78To6Gnpl5Mx
https://dl.doubtnut.com/l/_Gp7PLpoiwkoB

B.+3

C.+6

Answer: C

o Watch Video Solution

25. Oxidation number of iodine varies from -

A —1to+1

B.—1to+7

C.+3to+5

D.—1to+5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Gp7PLpoiwkoB
https://dl.doubtnut.com/l/_xbL80SA7hImD

26. Which one of the following has the highest oxidation number of

iodine?

A KI;

B.KI

C.IF;

D. KIO,

Answer: D

° Watch Video Solution

27.The charge on cobalt in [Co(CN),] s

C.+3


https://dl.doubtnut.com/l/_22e4Vg4Bho6X
https://dl.doubtnut.com/l/_el2ewLLjkuNL

D.+6

Answer: C

o Watch Video Solution

28. Oxidation state of oxygen inhydrogen peroxide is

B.+1

C.0

Answer: A

o Watch Video Solution

29. The oxidation number of P in Mgy PO is


https://dl.doubtnut.com/l/_el2ewLLjkuNL
https://dl.doubtnut.com/l/_dtZmlb7YrT4m
https://dl.doubtnut.com/l/_MueLhh9eEZRm

A +3

B.+2

C.+5

Answer: C

o Watch Video Solution

30. The atomic number of an element which can not show the

oxidation state of + 3 is-

A13

B.32

C.33

D.17


https://dl.doubtnut.com/l/_MueLhh9eEZRm
https://dl.doubtnut.com/l/_Fg6zwO2hSCz7

Answer: A

o Watch Video Solution

31. The oxidation number of S'in NayS5,0¢ is

D.+6

Answer: D

o Watch Video Solution

32. Oxidation number of N in (NHy),50, is

A—1/3


https://dl.doubtnut.com/l/_Fg6zwO2hSCz7
https://dl.doubtnut.com/l/_wrgCyXG2DHR7
https://dl.doubtnut.com/l/_ihDuGZqDJxd3

Answer: D

° Watch Video Solution

33. The oxidation number of sulphur in H,S0,4, HyS50, and H,S5,0¢
are respectively

A+3, +4, +5

B.+5, +4, +3

C.+6, +3, +5

D.+3, +5, +4

Answer: C

| o Ar_a_L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_ihDuGZqDJxd3
https://dl.doubtnut.com/l/_DKJlPmNVfAC5

L vvallll viUCO o0IuUlLiornl

34. Which of the following statement is correct

A. Hydrogen has oxidation number -1 and +1

B. Hydrogen has same electronegativity as halogens

C. Hydrogen will not be liberated at anode

D. Hydrogen has same ionization potential as alkali metals

Answer: A

° Watch Video Solution

35. The oxidation number of carbon in CH,Cl, is

A.O

B.+2


https://dl.doubtnut.com/l/_DKJlPmNVfAC5
https://dl.doubtnut.com/l/_dOZD3H32VdAU
https://dl.doubtnut.com/l/_7QpANBa5Jizu

D.+4

Answer: A

o Watch Video Solution

36. Oxidation number of nitrogen in NaNO, is

A +2

B.+3

C.+4

Answer: B

o Watch Video Solution

37.The highest oxidation state of Mn is shown by


https://dl.doubtnut.com/l/_7QpANBa5Jizu
https://dl.doubtnut.com/l/_5jk5ioCqwrQX
https://dl.doubtnut.com/l/_HZZ6Z7txZC0V

A. KMTLO4

B. K2Mn04

C. Mn203

D. M’I’LOg

Answer: A

° Watch Video Solution

38. The oxidation number and the electronic configuration of sulphur
in HQSO4 is

A. +4, 1522522p535>

B. 42, 1s22522p93523p?

C.+3, 15225221:)63323191

D. +6, 15225%2p°


https://dl.doubtnut.com/l/_HZZ6Z7txZC0V
https://dl.doubtnut.com/l/_PrF7HmjbAbB5

Answer: D

o Watch Video Solution

39. Oxidation number of N in NHj is

A -3

B.+3

C.0

D.+5

Answer: A

o Watch Video Solution

40. Nitrogen shows different oxidation states in the range:

A.Oto +5


https://dl.doubtnut.com/l/_PrF7HmjbAbB5
https://dl.doubtnut.com/l/_4UtQbnMwqlSk
https://dl.doubtnut.com/l/_TEKZRzWjG6Cp

B.+3, +5, +7,0

C.4+5, +7, —1,0

D.—1, —5, —1,0

Answer: B

o Watch Video Solution

41. Oxidation number if iodine in IO, , 10, , KI and I, respectively
are

A—1, —1,0, +1

B.+3, +5, +7,0

C.+5, +7, —1,0

D.—1, —5, —1,0

Answer: C

| ° Ao _L vl _ e~_ ..



https://dl.doubtnut.com/l/_TEKZRzWjG6Cp
https://dl.doubtnut.com/l/_2eq5ifx4CIdg

L vvallll viUCo o0IuULiornl )

42. Oxidation state of phosphorus in cyclotrimetaphosphoric acid is

A +3

B.+5

D.+2

Answer: B

° Watch Video Solution

43. In which of the following the oxidation number of oxygen has been

arrangd in increasing order :-

A.OF, < KOy < Ba0Oy < 03

B.BCLOQ < K02 < 03 < OFQ


https://dl.doubtnut.com/l/_2eq5ifx4CIdg
https://dl.doubtnut.com/l/_f9jEzFsWKf2M
https://dl.doubtnut.com/l/_qHL65MRbQUfx

C. BaOy < O3 < OFy < KO,

D. K02 < OF2 < 03 < BCLOQ

Answer: B

o Watch Video Solution

44. 0Oxygen has an oxidation state of +2 in

A H,0,

B.CO,

C. H,O

D.OF,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qHL65MRbQUfx
https://dl.doubtnut.com/l/_1wUv97nVLRes
https://dl.doubtnut.com/l/_91tvvXfSevXZ

45.The sum of the oxidation states of all the carbon atoms present in

the compound C¢H;CHO is :

A +2

B.O

C.+4

Answer: D

° Watch Video Solution

46. Oxidation state of chlorine in perchloric acid is

A—-1
B.O
C.—7

D.+7



https://dl.doubtnut.com/l/_91tvvXfSevXZ
https://dl.doubtnut.com/l/_5WTDkWncQaXE

Answer: D

o Watch Video Solution

47. In the conversion fo Bry to BrO, , the oxidation state of Br
changes from.

A —1to—1

B.Oto -1

C.0to+5

D.Oto —5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5WTDkWncQaXE
https://dl.doubtnut.com/l/_PlC3vfW2jrvv

48. Which of the following have been arranged in the decreasing order
of oxidation number of sulphur ?

A. NG,QS406 > H2SQO7 > Na28203 > Sg

B. H,SO4 > SOy > HyS > H5S55,04

C.80%" > SO~ > SO2~ > HSO,

D. H2505 > H2503 > SCly > HyS

Answer: D

o Watch Video Solution

49, Chlorine is in + 3 oxidation state in

A . HCI

B. HCIO,

C.ICI


https://dl.doubtnut.com/l/_aO4oLIYniOEk
https://dl.doubtnut.com/l/_v2sGLzEUVDhv

D. ClF,

Answer: D

o Watch Video Solution

50. In the chemical reaction Cly, + HyS — 2HCI + S, the oxidation

number of sulphur changes from

A.Oto 2

B.2to O

C.—2to O

D. —2to -1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_v2sGLzEUVDhv
https://dl.doubtnut.com/l/_1f9JNJNUklWn

51. Oxidation number of oxygen in ozone

A +3

D.O

Answer: D

° Watch Video Solution

52. In which of the following compounds iron has lowest oxidation
state?

A. FCSO4. (NH4)2SO4 6H20

B.K4F€(CN)6

C.Fe(CO),


https://dl.doubtnut.com/l/_0iGJf3mRF21Z
https://dl.doubtnut.com/l/_TiAaQLjV8oVM

D. FGQO

Answer: C

o Watch Video Solution

53. In which of the following compounds the oxidation number of

carbon is maximum

A .HCHO

B. CHCl,

C.CH;0H

D. C12H5,01;

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TiAaQLjV8oVM
https://dl.doubtnut.com/l/_hJJI061jXWhT

54. the oxidation number of Cin CO, is

D.+4

Answer: D

° View Text Solution

55.1n XeO3 and XeFj the oxidation state of Xe is

A +4

B.+6

C.+1

D.+3


https://dl.doubtnut.com/l/_RPe0BCcn0zYx
https://dl.doubtnut.com/l/_RebIwRiE1aBu

Answer: B

o Watch Video Solution

56. Calculate the oxidatioin number of S in SOZ_ ion.

A +6
B.+3

C.+2

Answer: A

o Watch Video Solution

57. The oxidation number of phosphorus in Ba(H;PO,), is:-

A—1


https://dl.doubtnut.com/l/_RebIwRiE1aBu
https://dl.doubtnut.com/l/_1xNNl0Gqy8dQ
https://dl.doubtnut.com/l/_2plmJboMw65g

B.+1

C.+2

D.+3

Answer: B

o Watch Video Solution

58. Phosphorus has the oxidation state 43 in

A. Orthophosphoric acid

B. Phosphorus acid

C. Metaphosphoric acid

D. Pyrophosphoric acid

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2plmJboMw65g
https://dl.doubtnut.com/l/_3dzqy3V8TW4m

59. The oxidation state of Cr in C'rOyj is

A3

B.4

C.6

D.7

Answer: C

° Watch Video Solution

60. Oxidation number of sulphur in NayS5503 is

A +1

B.+2

C.+3


https://dl.doubtnut.com/l/_sIshBVl5btQq
https://dl.doubtnut.com/l/_G90IOjjPQ8WA

Answer: B

° Watch Video Solution

61. The oxidation state of chromium in the final product formed by the

reaction between Kl and acidified potassium dichromate solution is :

A +4

B. +6

C.+2

D.+3

Answer: D

° Watch Video Solution

62. The oxidation state of Cr in [Cr(NH3),Cls] T is:


https://dl.doubtnut.com/l/_G90IOjjPQ8WA
https://dl.doubtnut.com/l/_ALMdV4y1aTYt
https://dl.doubtnut.com/l/_JtAro4kV1GuO

A +3

B.+2

C.+1

D.O

Answer: A

o Watch Video Solution

63. The oxidation number of oxygen in KO3, NayO- respectively are:

A 3,2

B.1,0

c.0,1

D.—0.33, — 1

Answer: D



https://dl.doubtnut.com/l/_JtAro4kV1GuO
https://dl.doubtnut.com/l/_bithXxyiDjbu

[ W Watch Video Solution

64. Oxidation state of oxygen atom in potassium superoxide is

A.O

Answer: C

° Watch Video Solution

65. The oxidation number of nitrogen in (NyH;) " is


https://dl.doubtnut.com/l/_bithXxyiDjbu
https://dl.doubtnut.com/l/_kA4EeOZpaigQ
https://dl.doubtnut.com/l/_19vVvYP7zhdF

D. +2

Answer: B

o Watch Video Solution

66. The oxidation number of Ba in barium peroxide is

A +6

B.+2

C.1

D.+4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_19vVvYP7zhdF
https://dl.doubtnut.com/l/_MFqbqNLInhqk
https://dl.doubtnut.com/l/_ujl1zp42IEwt

67. Carbon has zero oxidation number in

A.CO

B.CHy

C.CH,Cl,

D. CH,Cl

Answer: C

o Watch Video Solution

68. The oxidation state shown by silicon when it combines with

strongly electropositive metals is

A —2
B.—4
C.+4


https://dl.doubtnut.com/l/_ujl1zp42IEwt
https://dl.doubtnut.com/l/_LVS6J9EmUbny

Answer: B

o Watch Video Solution

69. A compound is in its high oxidation state. Then its will be

A. Highly acidic

B. Highly basic

C. Highest oxidising property

D. Half acidic, half basic

Answer: C

° Watch Video Solution

70. Oxidation numbers of two Cl atoms in belaching powder, CaOCl,,

are


https://dl.doubtnut.com/l/_LVS6J9EmUbny
https://dl.doubtnut.com/l/_1m79Bnuxr4Y1
https://dl.doubtnut.com/l/_QivXUScV1Ma6

A—1, —1

B.+1, — 1

C+1, +1

D.0, —1

Answer: B

° Watch Video Solution

71. In chromite ore, the oxidation number of iron and chromium are

respectively.

A +3, +2

B.+3, +6

C.+2, +6

D.+2, + 3


https://dl.doubtnut.com/l/_QivXUScV1Ma6
https://dl.doubtnut.com/l/_WxIIOyOmEb7d

Answer: D

o Watch Video Solution

72. When a mananous salt is fused with a mixture of KNQO3 and and

solid NaOH, the oxidation number of Mn change from +2 to:

A +4

B.+3

C.+6

D.+7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WxIIOyOmEb7d
https://dl.doubtnut.com/l/_LV9iszZYZ8Im

73. Consider the following reaction
6NaOH + 3Cly — 5NaCl + A + 3H,O. What is the oxidation

number of chlorine in "A" ?

A +5

C.+3

D.+1

Answer: A

o Watch Video Solution

74.The oxidation state of iodine in IPQy is

A +1

B.+3


https://dl.doubtnut.com/l/_bNTwvLj71jeZ
https://dl.doubtnut.com/l/_W45qRi1UKdMg

C.+5

D.+7

Answer: B

o Watch Video Solution

75. The oxidation states of S atoms in 52037 from left to right

respectively are

A +6,0,0, +6
B.+3, +1, +1, +3
C.+5,0,0, +5

D.+4, +1, +1, +4


https://dl.doubtnut.com/l/_W45qRi1UKdMg
https://dl.doubtnut.com/l/_NzA1XqbDWyxM

Answer: A

o Watch Video Solution

76. The oxidation state of nickel in K4Ni(CN), is:

C.+2

D.0

Answer: D

o Watch Video Solution

77. The oxidation state of nitrogen in N3 H is

A+


https://dl.doubtnut.com/l/_NzA1XqbDWyxM
https://dl.doubtnut.com/l/_NrNJFmNxkwQF
https://dl.doubtnut.com/l/_aQ8u0NUqJkYj

C.—-1
b 1
3
Answer: D

o Watch Video Solution

78. The oxidation number and covalency of sulphur in the sulphur
molecule (Sg) are respectively:

A.0Oand 2

B.6and 8

C.0and 8

D.6and 2

Answer: A

| ° Ao _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_aQ8u0NUqJkYj
https://dl.doubtnut.com/l/_Y8C9pHYR7IdX
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79. Oxidation number of N in NHj is

A +5

B.+3

Answer: D

° Watch Video Solution

80. Assertion: Fluorine exists only in — 1 oxidation state.

Reason: Fluorine has 2s%2p°configuration.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.


https://dl.doubtnut.com/l/_Y8C9pHYR7IdX
https://dl.doubtnut.com/l/_ia0bwhgc0aLa
https://dl.doubtnut.com/l/_ORLZHxHBAK4P

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: B

° Watch Video Solution

81. Assertion: HCIQO, is a stronger acid than HC1Ojs.

Reason: Oxidation state of Clin HCIOyis + VII and in HCIO3 + V.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_ORLZHxHBAK4P
https://dl.doubtnut.com/l/_N74Il0rLTKWd

D. If the assertion and reason both are false.

Answer: B

o Watch Video Solution

82. Assertion :- Oxidation number of carbon in CH,O is zero.
Reason :- CH,O (formaldehyde) is a covalent compound.
A.If both assertion and reason are true and the reason is the
correct explanation of the assertion.
B.If both assertion and reason are true but reason is not the
correct explanation of the assertion.
C. If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: B

[ o Ar_a_L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_N74Il0rLTKWd
https://dl.doubtnut.com/l/_FIa6gF50dWuO
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83. Assertion : The oxidation numbers are artificial, they are useful as a

book keeping device of elements in reactions

Reason : The oxidation numbers do not usually represent real charge

on atoms, they are simply conventions that indicate what the

maximum charge could possibly be on an atom in a molecule.

A.If both assertion and reason are true and the reason is the

correct explanation of the assertion.

B.If both assertion and reason are true but reason is not the

correct explanation of the assertion.

C.If assertion is true but reason is false.

D. If the assertion and reason both are false.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FIa6gF50dWuO
https://dl.doubtnut.com/l/_qmQZX86drWgF

Ordinary Thinking (Objective Questions) Redox reaction and Method for

balancing Redox reaction

1. The number of moles of KMnO, reduced by 1mol of KT in alkaline

medium is

A. One fifth

B. Five

C.One

D. Two

Answer: D

o Watch Video Solution

2.In the balanced chemical reaction
105 + al® +bH® — cH,0 + dI,

a, b, c,and d, respectively, correspond to


https://dl.doubtnut.com/l/_RF6KxiYGYMoX
https://dl.doubtnut.com/l/_WmuOcFdgU5Ug

A.5,6,3,3

B.5,3,6,3

C.3,5,3,6

D.5,6,5,5

Answer: A

° Watch Video Solution

3. Which of the following reaction involves oxidation reduction?

A.NaBr + HCl — NACI! + HBr

C.Hy + Bry — 2HBr

D. 2NG,OHH2504 — NG,2SO4 + 2H20

Answer: C



https://dl.doubtnut.com/l/_WmuOcFdgU5Ug
https://dl.doubtnut.com/l/_6AohrbiI9tJw

L Watch Video Solution

4.In the equation
AM + 8CN ™~ + 2H50 + Oy — 4[M(CN,)]~ + 40H ~
The metal M is

A. Copper

B. Iron

C. Gold

D. Zinc

Answer: C

o Watch Video Solution

5. Which of the following is the strongest oxidising agent?

A.BrO; /Br*" E° = + 1.50


https://dl.doubtnut.com/l/_6AohrbiI9tJw
https://dl.doubtnut.com/l/_QmVoAVbiuK2d
https://dl.doubtnut.com/l/_Kg3wZ1jHYtYO

B.Fe’" /Fe*t  E° = 4 0.76
C.MnO, /Mn*",E° = + 1.52

D.Cr,0}” /Or*t  E° = 4 1.33

Answer: C

o Watch Video Solution

6. MnO, ions are reduced in acidic conditions to Mn?®" ions whereas
they are reduced in neutral condition to MnQO,. The oxidation of 25 mL
of a solution z containing Fe*" ions required in acidic condition 20
mL of a solution y containing MnQO, ions. What value of solution y
would be required to oxidize 25 mL of solution x containing Fe?™ ions

in neutral condition ?

A. 114 ml
B.12.0 ml

C.333ml


https://dl.doubtnut.com/l/_Kg3wZ1jHYtYO
https://dl.doubtnut.com/l/_RguTVmGhet4R

D.35.0 ml

Answer: B

° Watch Video Solution

7. Which of the following equations is a balanced one?

A.5BiO; + 22H " + Mn*" — 5Bi*" + TH,0 + MnO,
B.5BiO; + 14H ™" +2Mn*" — 5Bi** + 7TH,0 + 2MnO,
C.2BiO; +4H*' + Mn*" — 2Bi** + 2H,0 + MnO,

D.6BiO, + 12H " + 3Mn®" — 6Bi*" + 6H,0 + 3MnO,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RguTVmGhet4R
https://dl.doubtnut.com/l/_QZQewelg6n22

8. Number of electron involved in the reduction of Cr203_ ion in
acidic solution to Cr3 ™+ is:

A.O

B.2

C.3

D.5

Answer: C

° Watch Video Solution

9. Number of moles of K,Cr,0; can be reduced by 1 mole of Sn?™"

ions is:

Al/3

B.1/6


https://dl.doubtnut.com/l/_XsSRbnydIivi
https://dl.doubtnut.com/l/_b596ydHN5W9r

c.2/3

D.1

Answer: A

o Watch Video Solution

10. Which of the following reaction is a redox reaction?

A P205 + 2H20 — H4P207
B.2AgNOs + BaCly, — 2AgCl + Ba(NOs),
C. BaCly + H,SO4 — BaSO4 + 2HCI

D.Cu + 2AgNO; — 2Ag + Cu(NOs),

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_b596ydHN5W9r
https://dl.doubtnut.com/l/_M6gosbfxU03L
https://dl.doubtnut.com/l/_5PHWmrzyOaUp

. What is "A’ in the following

2Fe3 "

(aq + A?

2+ 2+
) SN g = 2FE g

3+
A. Sn(aq)

4+
B. Sn(aq)

2+
C. Sn(aq)

D. Sn

Answer: B

reaction

o Watch Video Solution

12. Which of the following is not a redox reaction

A.2Rb + 2H,0 — 2RbOH + H,
B.2Cul, — 2Cul + I,
C. 2H202 — 2H20 + 02

D.4KCN + Fe(CN), — Ky|Fe(CN)g]


https://dl.doubtnut.com/l/_5PHWmrzyOaUp
https://dl.doubtnut.com/l/_R6nwpMd37kJr

Answer: D

o Watch Video Solution

13.2MnO, + 5H,0, + 6H ' — 2Z + 50, + 8H,O0. In this reaction
Zis

A Mn*?

B. Mn 4

C. M'I’L02

D. Mn

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_R6nwpMd37kJr
https://dl.doubtnut.com/l/_Z2WXHYzbDtlK

14. When KMnQO, acts as an oxidising agnet and ultimetely from
MnOif,MnOg, Mny,03, and Mn?", then the number of electrons
transferred in each case, respectively, are

A. 4315

B.1,53,7

C.1,34,5

D. 3,5,7]1

Answer: C

o Watch Video Solution

15. which of the following is a redox reaction

A. NaCl + KNO; — NaNO; + KClI

B. CCLCQO4 +2HCl — CaCl2 + H2C204


https://dl.doubtnut.com/l/_zupknP3r5mdQ
https://dl.doubtnut.com/l/_A5YBfndqrQ9Y

D. An + 2AgCN — 2Ag + Zn(CN),

Answer: D

o View Text Solution

16. Stannous sulphate (SnSO,;) and potassium permanganate are
used as oxidising agents in acidic medium for oxidation of ferrrous
ammnium sulphate to ferric sulphate. The ration of number of moles of
stannous sulphate required per mole of ferrous ammonium sulphate
to the number of moles of KMnQO, required per mole of ferrous

ammonium sulphate, is:

A 5.0

B.0.2

C.0.6

D. 2.5


https://dl.doubtnut.com/l/_A5YBfndqrQ9Y
https://dl.doubtnut.com/l/_BTI47cLag28z

Answer: D

o Watch Video Solution

17. CzHﬁ(g) + ’I’LOz — COz(g) + HzO(l)

In this equation, the ratio of the coefficients of COy and H,O is
Al:1l
B.2:3
C.3:2

D.1:3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BTI47cLag28z
https://dl.doubtnut.com/l/_3m1LjAsRb33n

18. In the redox reaction,

rKMnOy + NHy — yKNO3 + MnOy + MnO, + KOH + H50, x

andyare
Axz=4y==6
B.x =3,y =38
Cx=8y=6
D.z =8,y=3

Answer: D

o Watch Video Solution

19. The value of x in the partial redox equation

MnO, +8H" + ze & Mn®' +4H,0'is

A5


https://dl.doubtnut.com/l/_SunaEZlnpmtv
https://dl.doubtnut.com/l/_gvQg012xlNBz

B.3

C.1

D.O

Answer: A

o Watch Video Solution

20. Starch iodide paper is used to test for the presence of

A. lodine

B. Oxidising agent

C.lodine ion

D. Reducing agent

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gvQg012xlNBz
https://dl.doubtnut.com/l/_tRcysZs8MUBS

21. For the redox reaction,
MnO, + C,0:" + H™ — Mn** + CO, + H,0

the correct coefficients of the reactants for the balanced reaction are

o MnO; CO0:~ H*

16 5 2
5 MnO; C0:~ H*
2 5 16
¢ MnO; C0:~ H*
2 16 5
o MnO; C,O0:~ H*
5 16 2
Answer: B

o Watch Video Solution

Critical Thinking

1. One litre hard water contains 1200 mg Mg*" milliegivalent of

washing soda required to remove its hardness is


https://dl.doubtnut.com/l/_OrfIOVojaG8q
https://dl.doubtnut.com/l/_dfwFlFmnNWvB

Al

B.12.15

C.1x103

D.12.15 x 1073

Answer: A

° Watch Video Solution

2. The molar heat capacity of water at constant pressure, C, is
75JK ~'mol ~'. When 1.0 kJ of heat is supplied to 100 g water which is
free to expand, the increase in temperature of water is :

A.66K

B.1.2 K

C.24K

D.48K


https://dl.doubtnut.com/l/_dfwFlFmnNWvB
https://dl.doubtnut.com/l/_zKICOBbtt3kL

Answer: C

o Watch Video Solution

3. A compound possesses 8 % sulphur by mass. The least molecular
mass is?

A. 200

B. 400

C.155

D. 355

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zKICOBbtt3kL
https://dl.doubtnut.com/l/_6yG1WLnDhAa2

4.In a mole of water vapours at STP, the volume actually occupied or

taken by the molecules (i.e., Avogadro's No. X volume of one molecule)

is

A. Zero

B. Less than 1% of 22.4 litres

C. About 10% of the volume of container

D. 1% to 2% of 22.4 litres

Answer: B

o Watch Video Solution

5. Complete combustion of 0.858 g of compound X gives 2.63 g of CO,

and 1.28 g of H,0. The lowest molecular mass X can have

A43g


https://dl.doubtnut.com/l/_HqLjUcGh3lTw
https://dl.doubtnut.com/l/_YL9cvtu5jk45

B.86 g

C.129g

D.172 g

Answer: A

° Watch Video Solution

6. The set of numerical coefficients that balances the chemical equation
K,CrO4 + HCl — K,Cr,0; + KCIl 4+ H,O

A 1,1,2,21

B. 2,2,1,1,1

C. 200,21

D. 2,2,1,2,1

Answer: D

| ° A _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_YL9cvtu5jk45
https://dl.doubtnut.com/l/_2rR7XM34NkKY
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7. Mixture of sand and sulphur may best be separated by

A. Fractional crystallisation from aqueous solution

B. Magnetic method

C. Fractional distillation

D. Dissolving in C'S; and filtering

Answer: B

° Watch Video Solution

8. How much time would it take to distribute one Avogadro number of

wheat grains, if 10*° grains are distributed each second?

A.0.1673

B.1.673


https://dl.doubtnut.com/l/_2rR7XM34NkKY
https://dl.doubtnut.com/l/_rWaSDfndPV1U
https://dl.doubtnut.com/l/_TVBKTirocU80

C.16.73

D.167.3

Answer: B

o Watch Video Solution

9. A 100% pure sample of a divalent metal carbonate weighing 2 g on
complete thermal decomposition releases 448 cc of carbon dioxide at
STP. The equivalent mass of the metal is

A. 40

B. 20

C.28

D.12

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TVBKTirocU80
https://dl.doubtnut.com/l/_447FKACmzVcH

10. In the following reaction, which choice has value twice that of the

equivalent mass of the oxidising agent

SO, + H,O — 35 + 2H,0

A. 64

B.32

C.16

D. 48

Answer: B

° Watch Video Solution

11. What volume of hydrogen gas at 273 K and 1 atm. Pressure will be
consumed in obtaining 21.6 g elemental boron (Atomic mass=10.8) from

the reduction of boron trichloride by hrogen?


https://dl.doubtnut.com/l/_447FKACmzVcH
https://dl.doubtnut.com/l/_conTa158htoh
https://dl.doubtnut.com/l/_6HlfvCIrkytQ

A 224 L

B.896 L

C.672L

D.448L

Answer: C

° Watch Video Solution

12. A mixture of C'aCly and NaCl weighing 4.44 is treated with sodium
carbonate solution to precipitate all the Ca?" ions as calcium
carbonate. The calcium carbonate so obtained is heated strongly to
get 0.56 g of CaO. The percentage of NaCl in the mixture of (atomic

mass of Ca=40) is

A.75

B.30.5


https://dl.doubtnut.com/l/_6HlfvCIrkytQ
https://dl.doubtnut.com/l/_DIYjoA8cETTc

C.25

D. 694

Answer: A

o Watch Video Solution

13. The volume of 0.IM oxalic acid that can be completely oxidised by

20mL of 0.025M K MnQy solution is

A.125 mL

B.25 mL

C.125mL

D.375mL

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DIYjoA8cETTc
https://dl.doubtnut.com/l/_645yQicxBTRp

JEE Section (Only one choice correct answer)

1. White P reacts with caustic soda, the products are PH3 and
NaH,PQOs. This reaction is an example of:

A. Oxidation

B. Reduction

C. Oxidation and reduction (Redox)

D. Neutralization

Answer: C

° Watch Video Solution

2. One mole of NyH, loses ten moles of electrons to form a new
compound A. Assuming that all the nitrogen appears in the new
compound, what is the oxidation state of nitrogen in A? (There is no

change in the oxidation state of hydrogen.)


https://dl.doubtnut.com/l/_sF95b4papAic
https://dl.doubtnut.com/l/_XiUz9zla9BDX

A +3

D.+5

Answer: A

° Watch Video Solution

3. If 0.50 mol of BaCl, is mixed with 020 mol of Na3PQO,, the
maximum number of moles of Bag(POj,), that can be formed is
A.0.70
B.0.50
C.0.20

D.0.10


https://dl.doubtnut.com/l/_XiUz9zla9BDX
https://dl.doubtnut.com/l/_k81CDuep9eRK

Answer: D

o Watch Video Solution

4. HBr and HI can reduce sulphurie acid, HCI can reduced KMnQO, and

HF can reduce................

A.H,50,

B. KMTLO4

C. KQCT‘207

D. None of the above

Answer: D

° Watch Video Solution

5. The oxidation number of carbon in CH,O is.


https://dl.doubtnut.com/l/_k81CDuep9eRK
https://dl.doubtnut.com/l/_bsKxyF3otchC
https://dl.doubtnut.com/l/_zvmTpMQto8Ky

B. +2

C.0

D.+4

Answer: C

° Watch Video Solution

6. If 10?* molecules are removed from 200 mg of CO,, the number of
moles of CO, left will be ?

A.2.85 x 103

B.28.8 x 103

C.0.288 x 103

D.1.68 x 102


https://dl.doubtnut.com/l/_zvmTpMQto8Ky
https://dl.doubtnut.com/l/_NQjyQJ3Fyd9L

Answer: A

o Watch Video Solution

7. The brown ring complex compound is formulated as

[Fe(H,0);NO]SO,. The oxidation state of Fe is

Al
B.2
C.3

D.O

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NQjyQJ3Fyd9L
https://dl.doubtnut.com/l/_KA09AZCdv99y

8.The equivalent weight of MnSO, is half its molecular weight when it
is converted to

A. Mny05

B. M'TlOZ

C.MnO,

D. MnOif

Answer: B

o Watch Video Solution

9. In which mode of expression, the concentration of a solution

remains independent of temperature?

A. Molarity

B. Normality


https://dl.doubtnut.com/l/_f7Y0zMSkVSxN
https://dl.doubtnut.com/l/_mtVxBt3BoEfa

C. Formality

D. Molality

Answer: D

o Watch Video Solution

10. For the redox reaction,
MnO; + C,0X~ + H* — Mn®* + CO, + H,0

the correct coefficients of the reactants for the balanced reaction are

o MnO; C0;~ H*

2 5 16
5 MnO; CO0:~ H*
16 5 2
¢ MnO; CO0:~ H*
5 16 2
o MnO; C,0;~ HT
2 16 5
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mtVxBt3BoEfa
https://dl.doubtnut.com/l/_teMwU9tVqFhh

11. The oxidation number of phosphorus in Ba(H2PO,), is:-

A +3
B.+2

C.+1

Answer: C

° Watch Video Solution

12. The sulphate of a metal M contains 9.87 % of M, This sulphate is

isomorphous with ZnS0O4.7TH,0. The atomic weight of M is

A.40.3

B.36.3


https://dl.doubtnut.com/l/_teMwU9tVqFhh
https://dl.doubtnut.com/l/_UhyrR0YpFnpP
https://dl.doubtnut.com/l/_QIgYe53poKIT

C.24.3

D.11.3

Answer: C

o Watch Video Solution

13. The weight of 1 x 10%2 molecules of CuSO4.5H50 is

A.4159 g
B.4159 g
C.4159 g

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QIgYe53poKIT
https://dl.doubtnut.com/l/_S2SxIHuQpDoP
https://dl.doubtnut.com/l/_PavtjgEoGqUE

14. The oxidation states of the most electronegative element in the

products of the reaction between BaO- with dilute Hy SO, are

A. 0 and -1

B.—1and-2

C.—2andO

D. —2and +1

Answer: B

° Watch Video Solution

15. The compound which could not act both as oxidising and reducing

agent is

A. SO,

B. Mn02

C. Al,O4


https://dl.doubtnut.com/l/_PavtjgEoGqUE
https://dl.doubtnut.com/l/_jK0DPWimfYIb

D.CrO

Answer: C

o Watch Video Solution

16. The law of multiple proportion was proposed by

A. Lavoisier

B. Dalton

C. Proust

D. Gay-Lussac

Answer: B

o Watch Video Solution

17. Which of the following is the most powerful oxidizing agent?


https://dl.doubtnut.com/l/_jK0DPWimfYIb
https://dl.doubtnut.com/l/_OkGxnDAC8zex
https://dl.doubtnut.com/l/_75CZ30Qsixar

A F,

B.Cly

C. B7’2

D. I,

Answer: A

° Watch Video Solution

18. The simplest formula of a compound containing 50% of element X

(atomic mass 10) and 50% of element Y (atomic mass 20) is

A XY

B. X,V

C. XY;

D. X,Y;


https://dl.doubtnut.com/l/_75CZ30Qsixar
https://dl.doubtnut.com/l/_6gWkLeEbkefp

Answer: B

o Watch Video Solution

19. The compound Ybay;CusO; which shows super conductivity has

copper in oxidation state . Assume that the rare earth element

yttrium is in its usual + 3 oxidation state.

A3/7
B.7/3
C.3

D.7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6gWkLeEbkefp
https://dl.doubtnut.com/l/_d94y2DZdorMK

20. Which has the most stable + 2 oxidation state ?

A Ag

B. Fle

C.Sn

D. Pb

Answer: D

° Watch Video Solution

21. The number of moles of KMnQO, that will be needed to react

completely with one mole of ferrous oxalate in acidic solution is:

@
ol ol ot w


https://dl.doubtnut.com/l/_mi4kO0KvXfob
https://dl.doubtnut.com/l/_ONCrXYTjRAGS

D.1

Answer: A

o Watch Video Solution

22.The normally of 0.3M phosphorus acid (H3 POs) is

A 0.1
B.0.9
C.0.3

D.0.6

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ONCrXYTjRAGS
https://dl.doubtnut.com/l/_YkDjtm64trZF

23.The oxidation number of sulphur in Sg, So F5 and H,S respectively
are:

A.0,+1and -2

B.+2,+1and -2

C.0,+1and +2

D. —2,+1and -2

Answer: A

o Watch Video Solution

24.0ne mole of calciium phosphide on reaction with excess water gives

A. 1 mole of phosphine
B. 2 moles of phosphoric acid

C. 2 moles of phosphine


https://dl.doubtnut.com/l/_kAGXi86VxuLv
https://dl.doubtnut.com/l/_N3ypBBNY3Vu0

D. 1 mole of phosphorus pentaoxide

Answer: C

o Watch Video Solution

25. The oxidation number of sulphur in Sg, SoFy and H,S respectively

are:

A.0,+1and -2

B.+2,+1and -2

C.0,+1and +2

D.—2,+1and -2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_N3ypBBNY3Vu0
https://dl.doubtnut.com/l/_MMcYO6tO3pG0

26. Among the following identify the species with an atom in 46
oxidation state.

A.MnO,

B.Cr(CN);~

C.NiF}~

D. C’T’OQCZ2

Answer: D

° Watch Video Solution

27. Among the following, identify the species with an atom in 46

oxidation state.

A.MnO,

B.Cr(CN);~


https://dl.doubtnut.com/l/_dreHpp563rjU
https://dl.doubtnut.com/l/_nZ51zT3PEhZJ

C.NiF}~

D. C’I’OQClz

Answer: D

o Watch Video Solution

28. The reaction 3C1O ™ (aq) — ClO; (aq) + 2C1™ (agq) an example of

A. Oxidation reaction
B. Reduction reaction
C. Disproportionation reaction

D. Decomposition reaction

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nZ51zT3PEhZJ
https://dl.doubtnut.com/l/_W3JjyoArhqxp

29. An aqueous solution of 6.3g oxalic acid dihydrate is made up to

250mL. The volume of 0.1NNaOH required to completely neutralise

10mL of this solution is

A. 40 ml.

B.20 ml.

C.10 ml.

D. 4 ml.

Answer: A

o Watch Video Solution

30. In the standardization of NayS;03 using K;Cry0O7 by iodometry,

th equivalent weight of K,Cr;0 is

A. (Molecular weight) /2


https://dl.doubtnut.com/l/_465vvikO3Cth
https://dl.doubtnut.com/l/_3eBG34f883PO

B. (Molecular weight) /6
C. (Molecular weight) /3

D. Same as molecular weight

Answer: B

o Watch Video Solution

31. How many moles of electrons weigh one kilogram?

A 6.023 x 10%

x 108

> 9.108 x 6.023

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3eBG34f883PO
https://dl.doubtnut.com/l/_WuPmTYj3xNMx

32. A mixture z containing 0.02 mol of [Co(NH;);SO4]Br and 0.02
mol of [Co(NHj3),Br| SO, was prepared in 2L of solution.
1L of mixture X + excess AGNO3 — Y
1L of mixture X + excess BaCly, — Z
The number of moles of Y and Z are
A. 0.01,0.01
B. 0.02, 0.01

C.0.01,0.02

D. 0.02,0.02

Answer: A

° Watch Video Solution

33.For H3 PO3 and H3 PO, the correct choice is

A. H,PQOs is dibasic and resucing


https://dl.doubtnut.com/l/_m8nMIVzurAYD
https://dl.doubtnut.com/l/_PgMyenrCOwUv

B. H3POj; is dibasic and non-reducing

C. H3 POy is tribasic and reducing

D. H3PQjs is tribasic and non-reducing

Answer: A

° Watch Video Solution

34. When MnQ, is fused with KOH, a coloured compound is formed,
the product and its colour is:

A. Ko MnQOy, purple green

B. KMnQOy, purple

C. Mny03, brown

D. Mn30, black

Answer: A

| ° Ar_a_L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_PgMyenrCOwUv
https://dl.doubtnut.com/l/_RNLZ2bp26Pu4

L vvallll viUCo o0IUtLiornl )

35.The product of oxidation of I~ with MnO, in alkaline medium is

A IO;
B. I,
C.10~

D.10,

Answer: A

° Watch Video Solution

36. The pair of the compounds in which both the metals are in the

highest possible oxidation state is

A [Fe(CN)y]’ ™, [Co(CN),)*~

B. CTOQCZ2, Mn04_


https://dl.doubtnut.com/l/_RNLZ2bp26Pu4
https://dl.doubtnut.com/l/_3oiUZOpWx0cr
https://dl.doubtnut.com/l/_msdXQos3Xxm0

C. T’I:O3, Mn02

D. [Co(CN)4]° ™, MnOs

Answer: B

o Watch Video Solution

37. Consider a titration of potassium dichromate solution with acidified

Mohr's salt solution using diphenylamine as indicator. The number of

moles of Mohr's salt required per mole of dichromate is:

A3

B.4

C.5

D.6

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_msdXQos3Xxm0
https://dl.doubtnut.com/l/_wJGGl13jtXkU

38. Oxidation states of the metal in the minerals haematite and

magnetite, respectively, are

A 1, 1l in haematite and Il in magnetite

B. I, Il in haematite and Il in magnetite

C. Il in haematite and Il, lll in magnetite

D. lll in haematite and II, lll in magnetite
Answer: D

° Watch Video Solution

39. Which ordering of compounds is according to the decreasing order

of the oxidation state of nitrogen ?

A.HNOs;, NO, NH,Cl, N,


https://dl.doubtnut.com/l/_wJGGl13jtXkU
https://dl.doubtnut.com/l/_Us39N0ojy8eb
https://dl.doubtnut.com/l/_uc3LYP6OpFwg

B. HNO3, NO, N,, NH,Cl

C. HNO;, NH,Cl, NO, N,

D. NO, HNO3, NH,Cl, N,

Answer: B

o Watch Video Solution

40. The reaction of white phosphorus with aqueous NaOH gives
phosphine along with another phosphorus containing compound. The
reacation type, the oxidation states of phosphorus in phosphine and
the other product are respectvely:

A. Redox reaction, -3 and -5

B. Redox reaction, +3 and +5

C. Disproportionation reaction, -3 and +5

D. Disproportionation reaction, -3 and +3


https://dl.doubtnut.com/l/_uc3LYP6OpFwg
https://dl.doubtnut.com/l/_Mnix9UjHgZtI

Answer: C

o Watch Video Solution

41. In which of the following reactions H>O, acts as reducing agent?
(A) HyOy +2H " + 2~ — 2H,0
(B) H202 — 2 — 02 + 2H+
(C). HOy +2¢~ — 20H ~
(D) H202 +20H  — 2 — 02 + 2H20
A.(1),(2)
B.(3), (4)
C.(1),(3)

D. (2),(4)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Mnix9UjHgZtI
https://dl.doubtnut.com/l/_xpVsNFWwE1Fh

42.The ratio of masses of oxygen and nitrogen in a particular gaseous

mixture 1: 4. The ratio of number of their molecule is :

Al1:4
B.7:32
C.1:8

D.3:16

Answer: B

o Watch Video Solution

43. The equation which is balanced and represents the correct

product(s) is .

A. Li,O + 2KCl — 2LiCl + K50

B. [CoCl(NH,);] " +5H" — Co** +5NH,” + Cl~


https://dl.doubtnut.com/l/_qcDhlcG2dk20
https://dl.doubtnut.com/l/_FcGC15VnlAe1

C. [Mg(H,0),]"" + (EDTA)*~ =50 (0Mg(EDT A))>*

D. CuSO4 + 4KCN — K,[Cu(CN),]| + K250,

Answer: B

o Watch Video Solution

44. 1g of a carbonate (M>CO3) on treatment with excess HCI
produces 0.01186 mole of CO,. The molar mass of M,CO; in gmol ~*
is

A.843

B.118.6

C.11.86

D. 1186

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FcGC15VnlAe1
https://dl.doubtnut.com/l/_IZqt7KG3XYKG

45. The most abundant elements by mas in the body of a healthy
human adult are Oxygen (61.4% ), Carbon (22.9% ). Hydrogen
(10.0) % ), and Nitrogen (2.6 % ). The weight which a 75kg person

would gain if all . H atoms are replaced by .> H atoms is

A.375 kg
B.7.5 kg
C.10 kg

D. 15 kg

Answer: B

° Watch Video Solution

46. Which of the following reactions is an example of redox reactions ?


https://dl.doubtnut.com/l/_IZqt7KG3XYKG
https://dl.doubtnut.com/l/_TPmpdp97un21
https://dl.doubtnut.com/l/_ws8C3aC406Hd

A. XeF, + PFy — [XeF|" + PF,
B. XeFs + H,O — XeOF, + 2HF
C. XBF(; + 2H20 — X602F2 +4HF

D. XeF,OyFy — XeFy + O,

Answer: D

° Watch Video Solution

47. The order of the oxidation state of the phosphours atom in

HgPOQ, H3P04, H3P03 and H4P206 is

A H3;PO, > H3POy > H3PO3 > H3P50q

B. H3PO, > HyP,Og > H3PO3 > H3PO,

C. H;PO, > H3PO3 > HyP,Og > H3POy

D. H3P03 > H3PO2 > H3PO4 > H4P206


https://dl.doubtnut.com/l/_ws8C3aC406Hd
https://dl.doubtnut.com/l/_lAAImYoPXUz1

Answer: B

o Watch Video Solution

JEE Section (More than one correct answer)

1. Reduction of the metal centre in aqueous permanganate ion involves

A.3e” in neutral medium

B.5¢ " in neutral medium

C.3e  in alkaline medium

D. 5e " in acidic medium

Answer: A::D

° Watch Video Solution



https://dl.doubtnut.com/l/_lAAImYoPXUz1
https://dl.doubtnut.com/l/_UzlL6SSoMt6z

2.For thereaction: I~ + ClO; + HyS04 — Cl™ + HSO, + I,
The correct statement(s) in the balanced equation is/are:

A. Stoichiometric coefficient of HSO, is 6

B. lodide is oxidized

C. Sulphur is reduced

D. H,O is one og the products

Answer: A::B::D

o Watch Video Solution

3. No reaction occurs in which of the following equations

AI® + Fe*t —

B.F2 —+ 2NaCl —

C.Cly + 2NaF —


https://dl.doubtnut.com/l/_cGOm3G3cJ0Pl
https://dl.doubtnut.com/l/_IiMsL6J9OSV6

D.I, + 2NaBr —

Answer: A::C::D

° Watch Video Solution

4. Which of the following is / are disproportionation redox changes?

A (NH4)2C’/’207 — Ny + CT‘203 + 4H20
[S) [S)
C.3C10° — ClO; + CI°
Dilution

D.2HCuCly ———— Cu + Cu®*t +4Cl + .° 2H®

with water

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_IiMsL6J9OSV6
https://dl.doubtnut.com/l/_e2Sg0hovdlba

5. Which of the following reactions does not involve oxidation-
reduction ?

A.2Rb+ 2H,0 — 2RbOH + H,

C. NH4Cl + NaOH — NaCl + NH3 + H2O

D.4KCN + Fe(CN), — K,|Fe(CN)]

Answer: C::D

o Watch Video Solution

6.0.1 " mol of "MnO;9 (in acidic medium) can:

A. Oxidies 0.5 mol of Fe?™
B. Oxidise 0.166 mol of F'eCy0,

C. Oxidise 0.25 mol of 020;2


https://dl.doubtnut.com/l/_Vyc0JRFH6FlQ
https://dl.doubtnut.com/l/_9FK6y2QBivpC

D. Oxidise 0.6 mol of Cr207_2

Answer: A::B::C

o Watch Video Solution

7.When (NH,),Cry0O7 is heated

A. There is oxidation of N
B. There is reduction of Cr
C. Net reaction is disproportionation

D. Net reaction is neutralisation

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_9FK6y2QBivpC
https://dl.doubtnut.com/l/_0ABkCW8os4uv

8. which of the following represent redox reactions?

©
.Cr02~ + 20H — 2Cr0O;~ + H,0

. Zn + CuSO4 — ZnSO,4 + Cu

C]
ii. MnO; + 3Mn?* + 40H — 5MnO, + 2H,0
IV.2Cu® — Cu + Cu?*
A.Cr,02~ + 20H -~ — 2CrO;~ + H,0
B.2CrO2~ +2H* — Cr,02~ + H,0
C.2MnO, + 3Mn?* +40H ~ + 40H ~ — 5MnO, + 2H,0

D.2Cut — Cu + Cu?*t

Answer: C::D

o Watch Video Solution

9. A mixture containing one mole of BaF, and two mole of Hy SO, will

be neutralised by:



https://dl.doubtnut.com/l/_C801PlFQ4HGm
https://dl.doubtnut.com/l/_QGNmJIsirEEv

A. 1 mol of KOH
B. 2 mol of Ca(OH),
C. 4 mol of KOH

D. 2 mol of KOH

Answer: D

° Watch Video Solution

10. A sample of HyO, solution labelled as "28 volume" has density of
265 g/L. Mark the correct option(s) representing concentration of same

solution in other units :

A My, = 2.5

B. % — =17

w
v
C. Mole fraction of HyOy = 0.2

D. mmg,o, = 13.88


https://dl.doubtnut.com/l/_QGNmJIsirEEv
https://dl.doubtnut.com/l/_TV0gWYDKQslv

Answer: A::C::D

o Watch Video Solution

11. In acidic medium dichromate oin osxidizes stannous ion as :
zSn*t + yCr2O$_ +zH" — aSn*" + bCr* " cH,O
A.Thevalueof z:yis 1:3
B.Thevalueof z + y + zis 18
C.Thevalueofa:bis 3:2

D.The valueof z — cis 7

Answer: B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_TV0gWYDKQslv
https://dl.doubtnut.com/l/_D7FoL15vkXnQ

12. Two bulbs A and B contains 16g0O, and 16903, respectively. Which
of the statements are ture?

A. Both bulbs contain same number of atoms

B. Both bulbs contain different number of atoms

C. Both bulbs contain same number of molecules

D.Bulb A contains N4 /2 molecules while bulb B contains N4 /3

molecules (N, = Avogardro’s number)

Answer: A::D

o Watch Video Solution

JEE Section (Reasoning type questions)

1. Assertion (A) : If 30mL of Hy and 20mL of O, react to form water,

5mL of Hy is left at the end of the reaction.


https://dl.doubtnut.com/l/_47VK8GOXrhmb
https://dl.doubtnut.com/l/_JXDZMLsvStap

Reason (R ): Hs is the limiting reagent.

A. Statement 1 is true, statement 2 is true, statement 2 is a correct

explanation for statement 1

B. Statement 1 is true, statement 2 is true, statement 2 is not a

correct explanation for statement 1

C. Statement 1is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: D

o Watch Video Solution

2. Statement-1 : Atomic mass of sodium is 23u
Statement-2 : An atom of sodium is 23 times heavier than atom of C-12

isotope


https://dl.doubtnut.com/l/_JXDZMLsvStap
https://dl.doubtnut.com/l/_OHWknCb3GLj2

A. Statement 1 is true, statement 2 is true, statement 2 is a correct

explanation for statement 2

B. Statement 1 is true, statement 2 is true, statement 2 is not a

correct explanation for statement 2

C.Statement 1is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: C

° Watch Video Solution

3. Assertion (A): Calomel is a chemical compound whereas brass is a
mixture.

Reason (R ): Calomel always contains 5.6 times as much mercury as
chlorine by weight. Brass can be made with widely different ratios of

copper and zine.


https://dl.doubtnut.com/l/_OHWknCb3GLj2
https://dl.doubtnut.com/l/_pd1RDucWmivt

A. Statement 1 is true, statement 2 is true, statement 2 is a correct

explanation for statement 3

B. Statement 1 is true, statement 2 is true, statement 2 is not a

correct explanation for statement 3

C.Statement 1is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: A

o Watch Video Solution

4. Assertion (A): HNQOj acts only as an oxidising agent, while HNO,
acts both as an oxidising agnet and a reducing agent.
Reason (R ): The oxidation number of N in H NO3 is maximum.

A. Statement 1 is true, statement 2 is true, statement 2 is a correct

explanation for statement 4


https://dl.doubtnut.com/l/_pd1RDucWmivt
https://dl.doubtnut.com/l/_rGxAhNOECpwE

B. Statement 1 is true, statement 2 is true, statement 2 is not a

correct explanation for statement 4

C. Statement 1is true, statement 2 is false

D. Statement 1 s false, statement 2 is true

Answer: A

° Watch Video Solution

5. Assertion (A): Sodium perxenate (NayXeOg) reacts with NaF in
acidic medium to give XeO3 and F}
Reason (R ): XeOé_ is a stronger oxidant than Fj.
A. Statement 1 is true, statement 2 is true, statement 2 is a correct
explanation for statement 5

B. Statement 1 is true, statement 2 is true, statement 2 is not a

correct explanation for statement 5


https://dl.doubtnut.com/l/_rGxAhNOECpwE
https://dl.doubtnut.com/l/_dxDPqRhfPI0V

C. Statement 1is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: A

o Watch Video Solution

6. Assertion (A): A reaction between F'e and I, occurs, but a reaction
between Fe?™ and I°® does not occur.
Reason (R ): Fe is a better reducing agent than I°.
A. Statement 1 is true, statement 2 is true, statement 2 is a correct
explanation for statement 6
B. Statement 1 is true, statement 2 is true, statement 2 is not a
correct explanation for statement 6
C. Statement 1is true, statement 2 is false

D. Statement 1 s false, statement 2 is true


https://dl.doubtnut.com/l/_dxDPqRhfPI0V
https://dl.doubtnut.com/l/_EDOMProcwevf

Answer: A

o Watch Video Solution

JEE Section (Comprehension type questions)

1. Bleaching powder and bleach solution are produced on a large scale

and used in several hous-hold products. The effectiveness of bleach
solution id often measured by iodometry.

26mL of household bleach solution was mixed with 30mL of
0.50M KT and 10mL of 4N acetic acid. In the titration of the liberated
iodine, 48mL of 0.25N NaS,03 was used to reach the end point. The

molarity of the household bleach solution is :

A.048 M

B.0.96 M

C.0.24 M


https://dl.doubtnut.com/l/_EDOMProcwevf
https://dl.doubtnut.com/l/_lckSMDuwVltn

D.0.024 M

Answer: C

o Watch Video Solution

2.Bleaching powder and bleach solution are produced on a large scale
and used in several hous-hold products. The effectiveness of bleach
solution id often measured by iodometry.
Bleaching powder contains a salt of an oxoacid as one of its
components. The anhydride of that oxoacid is:

A.Cl,0

B. Cl,O7

C.ClO,

D. Cl206

Answer: A

f  _ 1


https://dl.doubtnut.com/l/_lckSMDuwVltn
https://dl.doubtnut.com/l/_HBobl2WBvAtS

l o Watch Video Solution

3. One litre of mixture of O, and O3 at STP was allowed to react with
an excess of acidified solution of Kl. The iodine liberated required 40 "
mL of " 10 sodium thiosulphate solution for titration. What is the
mass per cent of ozone in the mixture? Ultraviolet radiation of
wavelength 300 nm can decompose ozone. Assuming that one photon
can decompose one ozone molecule, how many photons would have
been required for complete decomposition of ozone in the original

mixture?

Answer:

[ o Watch Video Solution


https://dl.doubtnut.com/l/_HBobl2WBvAtS
https://dl.doubtnut.com/l/_k1IwaLEz7UIn

4. One litre of mixture of O3 and O3 at STP was allowed to react with
an excess of acidified solution of KI. The iodine liberated required 40 "
M : : , N ,
mL of " 0 sodium thiosulphate solution for titration. What is the
mass per cent of ozone in the mixture? Ultraviolet radiation of
wavelength 300 nm can decompose ozone. Assuming that one photon
can decompose one ozone molecule, how many photons would have
been required for complete decomposition of ozone in the original

mixture?

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_k1IwaLEz7UIn
https://dl.doubtnut.com/l/_3GT4yPDyGxkZ

5. One litre of mixture of O2 and O3 at STP was allowed to react with
an excess of acidified solution of Kl. The iodine liberated required 40 "
mL of " 10 sodium thiosulphate solution for titration. What is the
mass per cent of ozone in the mixture? Ultraviolet radiation of
wavelength 300 nm can decompose ozone. Assuming that one photon
can decompose one ozone molecule, how many photons would have
been required for complete decomposition of ozone in the original

mixture?

A 1.20 x 10%!
B.1.20 x 10%
C.1.20 x 10*?

D.1.20 x 10%

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3GT4yPDyGxkZ
https://dl.doubtnut.com/l/_s5Z3wJvyT0fO

6. Nitric acid is the most important oxyacid formed y nitrogen .It is one
of the major industial chemicl and is widely used. Nitric acid is
manufactured by the catalytic oxidation of ammonia in what is known
as OSTWALD PROCESS which can be represented by the sequenve of

reactions shown below:

Pt/ Rh '
MW%@%+&b@)a;;4N0@y+mgow) .(3)

INO(f) + Os(9) 225 aNOy(g)  ...(id)

3NOs(g) + HyO(l) - 2HNOs(aq) + NO(g) ...(4i7)

The aqueous nitric acid obtained by this method can be concentrated
by distillation to ~ 68.5 % by weight . Further concentrated to 98% acid
can be achieved by dehyration with concentrated sulphuric acid.

85 kg of NH3(g) was heated with 320 kg oxygen in the first step and
NHOQj is prepared according to the above reactions . If the above
reactions . If the final solution has volume 500 L ,then molarity of
HNOs; is :

[Assume NO formed finally is not reused]

A.333 M


https://dl.doubtnut.com/l/_IR4KnZo2pkuZ

B.8 M

C2M

D.6.66 M

Answer: D

° Watch Video Solution

7.Nitric acid is the most important oxyacid formed y nitrogen .It is one
of the major industial chemicl and is widely used. Nitric acid is
manufactured by the catalytic oxidation of ammonia in what is known
as OSTWALD PROCESS which can be represented by the sequenve of

reactions shown below:

Pt/ Rh '
4NHj(g) + 502(g) p—— ANO(g) 4+ 6H>0(g)  ...(3)

INO(f) + Oa(9) 225 ONOy(g)  ...(i4)

3NOs(g) + HyO(l) — 2HNOs(aq) + NO(g) ...(27)
The aqueous nitric acid obtained by this method can be concentrated

by distillation to ~ 68.5 % by weight . Further concentrated to 98% acid


https://dl.doubtnut.com/l/_IR4KnZo2pkuZ
https://dl.doubtnut.com/l/_LiWFBnvGKURT

can be achieved by dehyration with concentrated sulphuric acid. If 180
litre of water completely reacts with NO, produced to form nitric acid
according ot the above reactions then the volume of air at STP
containing 20% of NHjs is :(pg,0 = 1lgm /ml)

A.1.56 x 10°L

B.6.72 x 10°L

C.3.36 x 10°L

D. None of these

Answer: C

o Watch Video Solution

8. Nitric acid is the most important oxi-acid formed by nitrogen. It is
one of the major idustrial chemicals and is widely used. Nitric is
manufactured by ostwald process in which catalytic oxidation of

ammonia is done in following sequence as shown by reactions


https://dl.doubtnut.com/l/_LiWFBnvGKURT
https://dl.doubtnut.com/l/_jxkmzLKXZFAt

Pt/Rh )
4NH3(g) + 505(g) —C——tﬁ 4NO(g) + 6H,0(g) -.(i)
atalys

INO(g) + Os(g) —25 2NO,(g) (i)

3NOy(g) + HyO(l) — 2HNO3(aq) + NO(g) -.(iii)

In this process the aqueous nitric acid is obtained which can be
concentrated by distillation to ~68.5 % by weight. Then concentration
to 98% acid can be achieved by dehydration with concentrated sulfuric
acid.

If 170 kg of NHj is heated in excess of oxygen, then the volume of

H,0(l) produced in 1st reaction at STP is
(pm0 = 1g/mL)

A.33.6 x 10°L

B.270L

C.224 x 10°L

D.170L

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_jxkmzLKXZFAt

9. Redox reactions play a vital role in chemistry and biology. The values
of standard redox potential (E°) of two half-cells reactions decide
which way the reaction is expected to proceed. A simple example is a
Daniell cell in which zince goes into solution and copper gets
deposited. Given below are set of half-cell reactions (acidic medium )

along with their E° in V with respect to normal hydrogen electrode

values.

lo +2e= — 21 FE° =0.54
Cly +2e~ — 2C1~ E° =1.36
Mn*t + e~ — Mn2t E?2 =1.50
Fe3t + e~ — Fe2t E° =0.77

Oy +4H " 4+ 4e~ — 2H,0 E° =1.23

Among the following, identify the correct statement

A. Chloride ion is oxidised by O,
B. Fe?™ is oxidised by iodide
C.lodide ion is oxidised by chlorine

D. Mn?" is oxidised by chlorine


https://dl.doubtnut.com/l/_jxkmzLKXZFAt
https://dl.doubtnut.com/l/_1UlQVfrQpgfN

Answer: D

° Watch Video Solution

10. Redox reactions play a pivotal role in chemistry and biology. The
values standard redox potential (Ec*) of two half cell reactions
decided which way the reaction is expected to preceed. A simple
example is a Daniell cell in which zinc goes into solution and copper
sets deposited. Given below are a set of half cell reactions ( acidic
medium ) along with their E°~ (V with respect to normal hydrogen

electrode ) values. Using this data, obtain correct explanations for

Question.

I+ 2 — 2I°, E°™ = 0.54

Cly +2e~ — 20C1°™, E°~ =1.36
Mn3t + e — Mn?T, E°~ =1.50
Fe’t 4 e7 — Fe*T, E°~ =0.77

Oy +4H® + 4e~ — 2H,0, E‘” =1.23

While Fe3 7 is stable, Mn®* is not stable in acid solution because


https://dl.doubtnut.com/l/_1UlQVfrQpgfN
https://dl.doubtnut.com/l/_Qh1NTULg0fTC

A. O, oxidises Mn?" to Mn3+
B. O, oxidises both Mn?™ to Mn®" and Fe? ' to Fe3 "
C. Fe* ™ oxidises HyO to O,

D. Mn3* oxidises H,O to O,

Answer: D

° Watch Video Solution

11. Redox reactions play a pivotal role in chemistry and biology. The
values standard redox potential (E°") of two half cell reactions
decided which way the reaction is expected to preceed. A simple
example is a Daniell cell in which zinc goes into solution and copper
sets deposited. Given below are a set of half cell reactions ( acidic
medium ) along with their E° (V with respect to normal hydrogen
electrode ) values. Using this data, obtain correct explanations for
Question.

I, +2 —2I°, E° =0.54


https://dl.doubtnut.com/l/_Qh1NTULg0fTC
https://dl.doubtnut.com/l/_OctKcwi1G6sr

Cly +2  — 2CI°, E°” =1.36

MrPt +e” — Mn®",  E° =150

Fe*™ + e — Fet, E™ =0.77

Oy +4H® + 4e~ — 2H,0, E°™ =1.23

Sodium fusion extract obtained from aniline on treatment with iron
(II) sulphate and H,SO, in the presence of air gives a Prussion blue

precipitate. The blue colour is due to the formation of

A . Fey [Fe(C'N)ﬁ}3
B. Fes[Fe(CN),] )
C.Fe, [Fe(C’J\/')fJ2

D. Fes [Fe(CN)(J3

Answer: A

° Watch Video Solution

JEE Section (Integer type questions)



https://dl.doubtnut.com/l/_OctKcwi1G6sr
https://dl.doubtnut.com/l/_Wpzu3GJ7gJz6

1. The oxidation number of Mn in the product of alkaline oxidative

fusion of MnQO, is

o Watch Video Solution

2. A student of performs a titration with different burettes and finds
titre values of 25.2mL, 25.25mL, and 25.0mL. The number of

significant figures in the average titre value is .....

o Watch Video Solution

3. Among the following , the number of elements showing only one
non-zero oxidation state is:

O,C,F,N,P,5n,Tl, Na, Tt

° Watch Video Solution



https://dl.doubtnut.com/l/_Wpzu3GJ7gJz6
https://dl.doubtnut.com/l/_mb0UjYCCj7z4
https://dl.doubtnut.com/l/_4OKi8wJtjFX0

4. A decapeptide (Mol. Wt. 769) on complete hydrolysis gives glycine
(Mol. Wt. 75), alanine and phenylalanine.
Glycine contributes 47.0 % to the total weight of the hydrolysed

products. The number of glycine units. Present in the decapeptide is.

o Watch Video Solution

5. The difference in the oxidation numbers of two types of sulphul

atoms in NayS,40g is.....

° Watch Video Solution

6. The answer to each of the following questions is a single digit
integer, ranging from O to 9. If correct answers to the question number
AB,C and D (say) are 4,0,9 and 2 respectively, then correct darkening of
bubbles should be as shown on the side.

(C) Reaction of Bry with Na;C'O3 in aqueous solution gives sodium


https://dl.doubtnut.com/l/_cFaCsMyJve62
https://dl.doubtnut.com/l/_X9wLmpoIFTJj
https://dl.doubtnut.com/l/_vYNHIEAY7RhU

bromide and sodium bromate with evolution of COy gas. The number
of sodium bromide molecules involved in the balanced chemical

equation is ..

° Watch Video Solution

7.29.2 % (w/w) HCI stock, solution has a density of 1.25gmL . The
molecular weight of HCI is 36.5gmol *. The volume (mL) of stock

solution required to prepare a 200mL solution of 0.4MHCl is :

o Watch Video Solution

8.In dilute aqueous H,S50, the complete diaquadioxalatoferrate (11) is
oxidised by MnO, . For the reaction, the ratio of the rate of change of

[I—I+] to the rate of change of [MnO;] is

o Watch Video Solution



https://dl.doubtnut.com/l/_vYNHIEAY7RhU
https://dl.doubtnut.com/l/_n2pQkDhXH7W8
https://dl.doubtnut.com/l/_htD5Otlv5aT4
https://dl.doubtnut.com/l/_goIyQbKqPI50

9.in neutral or faintly alkaline solution, 8 moles of permanganate anion
quantitatively oxidize thiosulphate anions to produce X moles of a

sulphur containing product. The magnitude of X is

o Watch Video Solution

10. Washing soda (NayCO3.10H50) is widely used in softening of
hard water. If 1 L of hard water requires 0.0286 g of washing soda, the

hardness of NaOH in ppm is

° View Text Solution

11. In the following reaction
zZn + yHNO;(dil) — aZn(NOs3), + bH,0 + cNH,NO3

What is the sum of the coefficients (a + b + ¢)

° Watch Video Solution



https://dl.doubtnut.com/l/_goIyQbKqPI50
https://dl.doubtnut.com/l/_AS4efSBmPRkY
https://dl.doubtnut.com/l/_ew1AcP3y6YMw
https://dl.doubtnut.com/l/_AfUZ7kkHKQUS

12. CN® ion is oxidised by a powerful oxidising agent to NO:;9 and
CO, or CO%‘ depending on the acidity of the reaction mixture.

CN® — CO, + NO; + H® + #°

What is the number (n) of electrons involved in the process, divided by

107?

o Watch Video Solution

13. What is the n-factor for the phenol in the following reaction Phenol

( NH4 ) 20’/"207
_—

&2

° View Text Solution

14. The value of n in the molecular fromula Be, Al257601s.

° Watch Video Solution



https://dl.doubtnut.com/l/_AfUZ7kkHKQUS
https://dl.doubtnut.com/l/_hUcWfkOim75J
https://dl.doubtnut.com/l/_MMyNdMSuEeYE
https://dl.doubtnut.com/l/_EFhhTkMuz35r

15. A sample contains a mixtrure of NaHCO3 and NaxCOs.

HCl is added to 15.0g.of the sample, yielding 11.0g of NaCl. What

percent of the sample is NaxCO3?

Reaction are
Na,2C03 + 2HCl — 2NaCl + COQ + HQO
NaHCO, + HCl — NaCl + CO5 + H,O

MuwofNaCl = 58.5, MwofNaHCO3 = 84, MwofNasCO3 = 106gmol ~*

o Watch Video Solution

16. What volume of 90% alcohol by weight (d = O.89mL_1) must be

used to prepared 80m L of 10% alcohol by weight (d = O.ngL_l)

° Watch Video Solution

JEE Section (Matrix Match type questions)

1. Match the reactions in Column | with the nature of the

reactions/type of the products listed in Column II.


https://dl.doubtnut.com/l/_EFhhTkMuz35r
https://dl.doubtnut.com/l/_ZzNbenwo48wW
https://dl.doubtnut.com/l/_fZn6FKl5brqX

&2

o View Text Solution

2. Match the reaction given in Column | with average oxidation number

given in Column II.

&2

o View Text Solution

3. Match the no. of moles listed in Column | with their relevant

amounts listed in Column II.

&2

o View Text Solution



https://dl.doubtnut.com/l/_fZn6FKl5brqX
https://dl.doubtnut.com/l/_WfrUbGxMyy1h
https://dl.doubtnut.com/l/_D2Pn0gt3UfYG

